		BaseLine Item Detail		Construction Co.,	ANSELMI D	ECICCO, INC.	Joseph M	. Sanzari, Inc.	Ferreira Cons	struction Co. Inc.	Conti Ent	erprises, Inc.	Kyle Conti C	construction, LLC
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
1 1D01LAY	1 L.S.	Construction Layout	\$115,000.00	\$115,000.00	\$198,000.00	\$198,000.00	\$200,000.00	\$200,000.00	\$253,000.00	\$253,000.00	\$205,000.00	\$205,000.00	\$225,000.00	\$225,000.00
2 1D10MOB	1 L.S.	Mobilization	\$500,000.00	\$500,000.00	\$965,000.00	\$965,000.00	\$515,000.00	\$515,000.00	\$557,000.00	\$557,000.00	\$530,000.00	\$530,000.00	\$685,000.00	\$685,000.00
3 1G01SCH	1 L.S.	Progress Schedule	\$6,000.00	\$6,000.00	\$25,000.00	\$25,000.00	\$17,600.00	\$17,600.00	\$11,242.39	\$11,242.39	\$40,750.00	\$40,750.00	\$10,000.00	\$10,000.00
5 1I01MAB	1 L.S.	Maintenance Bond	\$1.00	\$1.00	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$83,069.62	\$83,069.62	\$150.00	\$150.00	\$500.00	\$500.00
8 2B04REX	5,802.00 C.Y.	Roadway Excavation and Embankment	\$14.00	\$81,228.00	\$40.00	\$232,080.00	\$65.00	\$377,130.00	\$50.00	\$290,100.00	\$50.00	\$290,100.00	\$20.00	\$116,040.00
9 2B15STS	104 C.Y.	Stripping Topsoil	\$35.00	\$3,640.00	\$35.00	\$3,640.00	\$65.00	\$6,760.00	\$50.00	\$5,200.00	\$25.00	\$2,600.00	\$25.00	\$2,600.00
10 2B20OVR	3,761.00 C.Y.	Overload Removal	\$13.00	\$48,893.00	\$20.00	\$75,220.00	\$7.00	\$26,327.00	\$35.00	\$131,635.00	\$19.00	\$71,459.00	\$20.00	\$75,220.00
12 N2B0002	1 L.S.	Dewatering	\$125,000.00	\$125,000.00	\$10,000.00	\$10,000.00	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00	\$98,000.00	\$98,000.00	\$50,000.00	\$50,000.00
13 2C00008	1,232.00 C.Y.	#57 Stone Backfill	\$30.00	\$36,960.00	\$75.00	\$92,400.00	\$85.00	\$104,720.00	\$80.00	\$98,560.00	\$56.00	\$68,992.00	\$20.00	\$24,640.00
14 2C01EMB	2,477.00 C.Y.	Embankment, Common	\$17.00	\$42,109.00	\$45.00	\$111,465.00	\$45.00	\$111,465.00	\$50.00	\$123,850.00	\$33.00	\$81,741.00	\$67.00	\$165,959.00
15 2C02EMB	651 C.Y.	Embankment, Grade A	\$55.00	\$35,805.00	\$65.00	\$42,315.00	\$55.00	\$35,805.00	\$80.00	\$52,080.00	\$60.00	\$39,060.00	\$78.00	\$50,778.00
16 2C04EMB	82 C.Y.	Porous Fill	\$100.00	\$8,200.00	\$100.00	\$8,200.00	\$56.00	\$4,592.00	\$120.00	\$9,840.00	\$65.00	\$5,330.00	\$200.00	\$16,400.00
17 2C13EMB	20,460.00 S.F.	Geosynthetic Embankment Reinforcement, Type A	\$2.00	\$40,920.00	\$0.45	\$9,207.00	\$1.00	\$20,460.00	\$3.00	\$61,380.00	\$0.55	\$11,253.00	\$6.00	\$122,760.00
18 2C14EMB	482 S.Y.	Geotextile Filter Fabric	\$3.00	\$1,446.00	\$4.00	\$1,928.00	\$6.00	\$2,892.00	\$7.00	\$3,374.00	\$0.75	\$361.50	\$3.00	\$1,446.00
19 N2C0005	5 Each	Settlement Platforms	\$1,700.00	\$8,500.00	\$1,800.00	\$9,000.00	\$7,500.00	\$37,500.00	\$3,000.00	\$15,000.00	\$2,600.00	\$13,000.00	\$7,000.00	\$35,000.00
20 N2C0010	530 L.F.	Inclinometer Casing	\$100.00	\$53,000.00	\$80.00	\$42,400.00	\$125.00	\$66,250.00	\$37.12	\$19,673.60	\$75.00	\$39,750.00	\$170.00	\$90,100.00
21 N2C0011	1 Each	Inclinometer Sensors With Cable And Inclinometer Software	\$7,000.00	\$7,000.00	\$9,000.00	\$9,000.00	\$20,000.00	\$20,000.00	\$25,454.47	\$25,454.47	\$5,250.00	\$5,250.00	\$8,000.00	\$8,000.00
22 N2C0012	1 Each	Inclinometer Readout Unit	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$30,000.00	\$30,000.00	\$17,563.58	\$17,563.58	\$5,250.00	\$5,250.00	\$8,000.00	\$8,000.00
23 N2C0014	86,654.00 L.F.	Vertical Wick Drains	\$1.25	\$108,317.50	\$2.10	\$181,973.40	\$3.50	\$303,289.00	\$3.66	\$317,153.64	\$2.00	\$173,308.00	\$3.00	\$259,962.00
24 2D01DAM	1 L.S.	Cofferdam No. 1	\$500,000.00	\$500,000.00	\$225,000.00	\$225,000.00	\$180,000.00	\$180,000.00	\$215,000.00	\$215,000.00	\$500,000.00	\$500,000.00	\$300,000.00	\$300,000.00
25 2D02DAM	1 L.S.	Cofferdam No. 2	\$500,000.00	\$500,000.00	\$225,000.00	\$225,000.00	\$180,000.00	\$180,000.00	\$215,000.00	\$215,000.00	\$500,000.00	\$500,000.00	\$300,000.00	\$300,000.00
26 2E01FEX	409 C.Y.	Foundataion Excavation	\$100.00	\$40,900.00	\$50.00	\$20,450.00	\$57.00	\$23,313.00	\$70.00	\$28,630.00	\$42.00	\$17,178.00	\$20.00	\$8,180.00
27 2G00016	425 Ton	Riprap Stone Slope Protection, 24" Thick (D50=12")	\$75.00	\$31,875.00	\$65.00	\$27,625.00	\$44.00	\$18,700.00	\$70.00	\$29,750.00	\$90.00	\$38,250.00	\$40.00	\$17,000.00
28 2H00016	12 Each	Inlet Filter, Type 2	\$250.00	\$3,000.00	\$225.00	\$2,700.00	\$107.00	\$1,284.00	\$320.00	\$3,840.00	\$550.00	\$6,600.00	\$150.00	\$1,800.00
29 2H00018	2 Each	Sediment Control Bags	\$800.00	\$1,600.00	\$900.00	\$1,800.00	\$302.50	\$605.00	\$180.30	\$360.60	\$650.00	\$1,300.00	\$500.00	\$1,000.00
30 2H00021	2 Each	Concrete Washout Facility	\$2,500.00	\$5,000.00		\$30,000.00	\$2,200.00	\$4,400.00	\$2,500.00	\$5,000.00	\$3,900.00	\$7,800.00	\$4,000.00	\$8,000.00
31 2H01DSC	4,160.00 S.Y.	Temporary Seeding	\$1.00	\$4,160.00	\$0.45	\$1,872.00	\$1.00	\$4,160.00	\$2.42	\$10,067.20	\$1.55	\$6,448.00	\$1.00	\$4,160.00
32 2H05DSC	30 KGAL	Watering	\$0.01	\$0.30	\$50.00	\$1,500.00	\$439.00	\$13,170.00	\$816.66	\$24,499.80	\$93.00	\$2,790.00	\$135.00	\$4,050.00
33 2H25TEC	10 C.Y.	Hay Bales	\$100.00	\$1,000.00	\$200.00	\$2,000.00	\$65.00	\$650.00	\$424.24	\$4,242.40	\$95.00	\$950.00	\$100.00	\$1,000.00
34 2H35TEC	247 L.F.	Floating Turbidity Barriers	\$70.00	\$17,290.00	\$20.00	\$4,940.00	\$50.00	\$12,350.00	\$13.32	\$3,290.04	\$95.00	\$23,465.00	\$45.00	\$11,115.00
35 2H45TEC	198 Ton	Construction Driveway	\$35.00	\$6,930.00	\$15.00	\$2,970.00	\$30.00	\$5,940.00	\$40.23	\$7,965.54	\$38.00	\$7,524.00	\$25.00	\$4,950.00
36 N2H0002	2,305.00 L.F.	Heavy Duty Silt Fence	\$7.00	\$16,135.00	\$10.00	\$23,050.00	\$8.00	\$18,440.00	\$7.43	\$17,126.15	\$5.50	\$12,677.50	\$8.00	\$18,440.00
37 2M00003	1 L.S.	Vibration and Movement Monitoring	\$75,000.00	\$75,000.00		\$20,000.00	\$45,000.00	\$45,000.00	\$15,909.04	\$15,909.04	\$68,140.00	\$68,140.00		\$160,000.00
38 3A04ABC	850 S.Y.	Aggregate Base Course, 4" Thick	\$12.00	\$10,200.00	\$20.00	\$17,000.00	\$6.00	\$5,100.00	\$10.07	\$8,559.50	\$9.00	\$7,650.00	\$12.00	\$10,200.00
39 3A08ABC	5,510.00 S.Y.	Aggregate Base Course, 8" Thick	\$10.00	\$55,100.00	\$25.00	\$137,750.00	\$10.00	\$55,100.00	\$16.56	\$91,245.60	\$9.50	\$52,345.00	\$10.00	\$55,100.00
40 3B00006	800 Ton	Hot Mix Asphalt 12.5 M 64-22 Surface Course	\$115.00	\$92,000.00	\$150.00	\$120,000.00	\$120.00	\$96,000.00	\$127.67	\$102,136.00	\$102.00	\$81,600.00	\$100.00	\$80,000.00
41 3B00010	2,520.00 Ton	Hot Mix Asphalt 19 M 64 Base Course	\$100.00	\$252,000.00	\$100.00	\$252,000.00	\$120.00	\$302,400.00	\$143.36	\$361,267.20	\$97.00	\$244,440.00	\$90.00	\$226,800.00
42 3B26TAC	515 GAL	Tack Coat	\$5.00	\$2,575.00		\$2,575.00	\$6.00	\$3,090.00	\$13.21	\$6,803.15	\$10.50	\$5,407.50	\$1.00	\$515.00
44 3C01BRS	145 S.Y.	Berm Surfacing, 3 Inches Thick	\$50.00	\$7,250.00		\$8,700.00	\$40.00	\$5,800.00	\$47.73	\$6,920.85	\$52.00	\$7,540.00	\$45.00	\$6,525.00
46 3E07PMR	300 S.Y.	Pavement Removal, 2" Depth	\$22.00	\$6,600.00		\$7,500.00	\$15.00	\$4,500.00	\$23.48	\$7,044.00	\$13.25	\$3,975.00	\$10.00	\$3,000.00
47 3E20PMR	75 S.Y.	Pavement Removal, Variable Depth	\$44.00	\$3,300.00		\$2,625.00	\$15.00	\$1,125.00	\$30.83	\$2,312.25	\$31.00	\$2,325.00	\$10.00	\$750.00
48 3E40PMR	345 S.Y.	Surface Milling	\$19.00	\$6,555.00		\$8,280.00	\$15.00	\$5,175.00	\$22.01	\$7,593.45	\$12.00	\$4,140.00	\$10.00	\$3,450.00
49 3E50PMR	815 S.Y.	Surface Milling, 2" Average Depth	\$16.00	\$13,040.00		\$20,375.00	\$15.00	\$12,225.00	\$22.01	\$17,938.15	\$7.25	\$5,908.75	\$10.00	\$8,150.00
50 4A00018	10 C.Y.	Concrete in Wingwalls	\$3,300.00	\$33,000.00		\$10,000.00	\$1,200.00	\$12,000.00	\$3,000.00	\$30,000.00	\$2,400.00	\$24,000.00	\$3,000.00	\$30,000.00
51 4A04STC	151 C.Y.	Concrete In Footings	\$700.00	\$105,700.00	\$1,000.00	\$151,000.00	\$484.00	\$73,084.00	\$500.00	\$75,500.00	\$975.00	\$147,225.00	\$900.00	\$135,900.00
52 4A10AAF	123 C.Y.	Concrete in Abutments Above Footings	\$1,300.00	\$159,900.00	\$1,000.00	\$123,000.00	\$1,200.00	\$147,600.00	\$1,200.00	\$147,600.00	\$1,300.00	\$159,900.00	\$3,000.00	\$369,000.00
53 4A10COP	23 C.Y.	Concrete in Coping	\$2,600.00	\$59,800.00		\$57,500.00	\$1,445.00	\$33,235.00	\$2,500.00	\$57,500.00	\$2,100.00	\$48,300.00	\$3,000.00	\$69,000.00
54 4A11RFS	74,444.00 LB	Reinforcement Steel, Epoxy Coated	\$1.60	\$119,110.40		\$186,110.00	\$2.00	\$148,888.00	\$2.00	\$148,888.00	\$1.70	\$126,554.80	\$1.60	\$119,110.40
55 N4A0001	496 S.Y.	Sawcut Grooved Deck Surface	\$6.00	\$2,976.00		\$5,952.00	\$8.00	\$3,968.00	\$19.93	\$9,885.28	\$15.25	\$7,564.00	\$10.00	\$4,960.00
56 N4A0003	87 L.F.	Strip Seal Expansion Joints, 4" Movement	\$450.00	\$39,150.00		\$43,500.00	\$270.00	\$23,490.00	\$345.38	\$30,048.06	\$390.00	\$33,930.00	\$460.00	\$40,020.00
57 4B00023	690 L.F.	Prestressed Concrete Beams, Type V	\$700.00	\$483,000.00	\$750.00	\$517,500.00	\$575.00	\$396,750.00	\$465.84	\$321,429.60	\$820.00	\$565,800.00	\$840.00	\$579,600.00
58 4CSSL01	1 L.S.	Structural Steel Structure No. 1	\$45,000.00	\$45,000.00		\$50,000.00	\$21,000.00	\$21,000.00	\$45,000.00	\$45,000.00	\$49,800.00	\$49,800.00	\$28,000.00	\$28,000.00
59 4CSSL02	1 L.S.	Structural Steel Structure No. 2	\$36,000.00	\$36,000.00		\$50,000.00	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00	\$34,700.00	\$34,700.00	\$28,000.00	\$28,000.00
60 4.00E+108		Obstruction Removal During Pile Driving	\$650.00	\$20,800.00	\$500.00	\$16,000.00	\$550.00	\$17,600.00	\$1,267.79	\$40,569.28	\$1,100.00	\$35,200.00	\$500.00	\$16,000.00
61 4.00E+131	•	Furnishing Cast-in-Place Concrete Pile, 24" O.D.	\$125.00	\$370,500.00		\$370,500.00	\$125.00	\$370,500.00	\$200.00	\$592,800.00	\$127.00	\$376,428.00	\$116.00	\$343,824.00
62 4.00E+132	•	Driving Cast-in-Place Concrete Pile, 24" O.D.	\$44.00	\$124,696.00		\$127,530.00	\$42.00	\$119,028.00	\$50.00	\$141,700.00	\$44.00	\$124,696.00	\$95.00	\$269,230.00
63 4.00E+133		Furnishing Cast-in-Place Concrete Test Pile, 24" O.D.	\$140.00	\$35,700.00		\$38,250.00	\$120.00	\$30,600.00	\$200.00	\$51,000.00	\$123.00	\$31,365.00	\$140.00	\$35,700.00
64 4.00E+134		Driving Cast-in-Place Concrete Test Pile, 24" O.D.	\$120.00	\$26,160.00		\$43,600.00	\$115.00	\$25,070.00	\$90.00	\$19,620.00	\$118.00	\$25,724.00	\$150.00	\$32,700.00
65 4E01EDP	1 L.S.	Furnishing Equipment for Driving Piles	\$375,000.00	\$375,000.00	\$115,474.60	\$115,474.60	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$172,260.30	\$172,260.30	\$300,000.00	\$300,000.00

		BaseLine Item Detail		Construction Co.,	ANSELMI D	ECICCO, INC.	Joseph M	I. Sanzari, Inc.	Ferreira Con	struction Co. Inc.	Conti Ent	erprises, Inc.	Kyle Conti C	onstruction, LLC
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
66 4E01PDA	4 Each	Restrike With PDA and CAPWAP Analysis	\$2,600.00		\$2,500.00	\$10,000.00	\$2,500.00	\$10,000.00	\$4,000.00	\$16,000.00	\$1,208.00	\$4,832.00	\$8,000.00	\$32,000.00
67 4E01PLT	2 Each	Dynamic Pile Load Tests	\$5,000.00		\$4,500.00	\$9,000.00	\$5,000.00	\$10,000.00	\$6,500.00	\$13,000.00	\$1,655.00	\$3,310.00	\$8,000.00	\$16,000.00
68 4H00008	12 Each	Laminated Elastomeric Bearing, 15" x 21"	\$5,000.00	\$60,000.00	\$3,500.00	\$42,000.00	\$1,700.00	\$20,400.00	\$5,834.03	\$70,008.36	\$5,000.00	\$60,000.00	\$4,599.00	\$55,188.00
69 4J01DAW	149 S.Y.	Damp-proofing	\$30.00		\$40.00	\$5,960.00	\$18.00	\$2,682.00	\$58.28	\$8,683.72	\$30.00	\$4,470.00	\$20.00	\$2,980.00
70 4N05BRL	797 L.F.	Bridge Railing	\$180.00		\$190.00	\$151,430.00	\$280.00		\$318.19	\$253,597.43	\$210.00	\$167,370.00	\$135.00	\$107,595.00
71 4001TSP 72 4P04PSS	300 S.F. 3,457.00 S.F.	Temporary Sheeting Permanent Steel Sheeting, Type AZ18	\$140.00 \$45.00		\$1.00	\$300.00 \$120,995.00	\$190.00 \$45.00		\$136.44 \$60.00	\$40,932.00 \$207,420.00	\$192.00	\$57,600.00 \$155,565.00	\$53.00	\$15,900.00 \$183,221.00
72 4P04P33 73 4P15PCS	6,913.00 S.F.	Protective Coating	\$45.00 \$7.00		\$35.00 \$1.00	\$6,913.00	\$45.00		\$3.62	\$25,025.06	\$45.00 \$6.85	\$47,354.05	\$53.00 \$4.00	\$27,652.00
74 N4Q0013	6,594.00 S.F.	Temporary Shielding	\$4.00		\$30.00	\$197,820.00	\$16.00		\$7.04	\$46,421.76	\$8.50	\$56,049.00	\$6.00	\$39,564.00
75 4R25BSR	1,030.00 S.F.	Substructure Membrane Waterproofing	\$18.00		\$20.00	\$20,600.00	\$11.00		\$13.26		\$13.00	\$13,390.00	\$20.00	\$20,600.00
76 4ZF01TMP	8,450.00 S.F.	Temporary MSE Welded Wire Mesh Wall	\$25.00		\$12.50	\$105,625.00	\$135.00		\$27.00	\$228,150.00	\$42.00	\$354,900.00	\$100.00	\$845,000.00
77 4ZF04MSE	2,721.00 S.F.	Mechanically Stabilized Earth Walls (Two-Stage)	\$350.00	\$952,350.00	\$325.00	\$884,325.00	\$235.00		\$530.00		\$465.00	\$1,265,265.00	\$225.00	\$612,225.00
78 4ZM03HPC	10 C.Y.	Concrete in Headblock, HPC	\$3,400.00		\$1,500.00	\$15,000.00	\$1,980.00	\$19,800.00	\$2,700.00	\$27,000.00	\$1,500.00	\$15,000.00	\$3,000.00	\$30,000.00
79 4ZM04HPC	27 C.Y.	Concrete in Parapet, HPC	\$2,300.00	\$62,100.00	\$2,500.00	\$67,500.00	\$1,750.00	\$47,250.00	\$2,300.00	\$62,100.00	\$2,400.00	\$64,800.00	\$3,600.00	\$97,200.00
80 4ZM06HPC	178 C.Y.	Concrete in Deck, HPC	\$1,000.00	\$178,000.00	\$1,250.00	\$222,500.00	\$1,000.00	\$178,000.00	\$1,200.00	\$213,600.00	\$2,100.00	\$373,800.00	\$2,800.00	\$498,400.00
81 4ZM09HPC	26 C.Y.	Concrete In Sidewalk, HPC	\$1,300.00	\$33,800.00	\$1,000.00	\$26,000.00	\$700.00	\$18,200.00	\$1,035.15	\$26,913.90	\$1,115.00	\$28,990.00	\$3,000.00	\$78,000.00
82 5A00002	96 L.F.	8-Inch Combination Underdrain	\$60.00	\$5,760.00	\$60.00	\$5,760.00	\$33.00	\$3,168.00	\$38.47	\$3,693.12	\$42.00	\$4,032.00	\$25.00	\$2,400.00
83 5A01PUD	125 L.F.	6-Inch Pipe Underdrain	\$50.00	. ,	\$50.00	\$6,250.00	\$31.00		\$52.44	\$6,555.00	\$33.00	\$4,125.00	\$120.00	\$15,000.00
84 5B01CSD	584 L.F.	Cleaning Existing Storm Drains	\$9.00	\$5,256.00	\$20.00	\$11,680.00	\$8.00		\$10.18	\$5,945.12	\$7.75	\$4,526.00	\$8.00	\$4,672.00
85 5B15RC3	701 L.F.	15" Reinforced Concrete Pipe	\$40.00		\$60.00	\$42,060.00	\$75.00		\$104.21	\$73,051.21	\$110.00	\$77,110.00	\$95.00	\$66,595.00
86 5B24RC3	95 L.F.	24" Reinforced Concrete Pipe	\$85.00		\$80.00	\$7,600.00	\$120.00	\$11,400.00	\$112.34	\$10,672.30	\$120.00	\$11,400.00	\$120.00	\$11,400.00
87 5C01NBO	7 Each	Inlet, Type B	\$3,500.00			\$42,000.00	\$3,500.00	\$24,500.00	\$4,392.20	\$30,745.40	\$6,000.00	\$42,000.00	\$4,500.00	\$31,500.00
88 5C01NE0	2 Each	Inlet, Type E	\$2,900.00		\$5,000.00	\$10,000.00	\$4,500.00	\$9,000.00	\$4,371.17	\$8,742.34	\$6,100.00	\$12,200.00	\$4,800.00	\$9,600.00
89 5C20NP1	1 Each	Manhole, Type P-1	\$4,000.00	1. 1	\$6,000.00	\$6,000.00	\$4,500.00	\$4,500.00	\$6,050.94	\$6,050.94	\$5,700.00	\$5,700.00	\$3,500.00	\$3,500.00
90 5C25EP1	1 Each	Reconstructed Manhole, Type P-1, Using Existing Cover and Frame	\$1,300.00	1. 1	\$1,500.00	\$1,500.00 \$1,500.00	\$2,000.00 \$2,200.00	\$2,000.00	\$1,655.68	\$1,655.68	\$1,600.00	\$1,600.00	\$3,000.00	\$3,000.00
91 5C25EP2 92 5C40RSF	1 Each 3 Each	Reconstructed Manhole, Type P-2, Using Existing Cover and Frame Reset Frame	\$1,700.00 \$500.00		\$1,500.00 \$1,000.00	\$3,000.00	\$500.00	\$2,200.00 \$1,500.00	\$1,655.68 \$482.17	\$1,655.68 \$1,446.51	\$1,600.00 \$450.00	\$1,600.00 \$1,350.00	\$3,000.00 \$1,600.00	\$3,000.00 \$4,800.00
93 5C55CDS	3 Each	Cleaning Existing Drainage Structures	\$1,000.00		\$500.00	\$1,500.00	\$350.00		\$441.25	\$1,323.75	\$350.00	\$1,050.00	\$500.00	\$1,500.00
94 5D10INC	1 C.Y.	Incidental Concrete	\$1,200.00		\$1,000.00	\$1,000.00	\$900.00		\$2,313.42	\$2,313.42	\$2,600.00	\$2,600.00	\$1,500.00	\$1,500.00
95 5F00011	2,540.00 L.F.	9" X 20" Concrete Vertical Curb, Tinted	\$38.00		\$40.00	\$101,600.00	\$40.00	•	\$37.12	\$94,284.80	\$38.00	\$96,520.00	\$39.00	\$99,060.00
96 5F00012	215 L.F.	Drop Curb, Tinted	\$38.00		\$38.00	\$8,170.00	\$40.00	\$8,600.00	\$37.12	\$7,980.80	\$38.00	\$8,170.00	\$39.00	\$8,385.00
97 5G01GNC	25 L.F.	Granite Curb	\$135.00	1. 1	\$250.00	\$6,250.00	\$125.00		\$124.89	\$3,122.25	\$88.00	\$2,200.00	\$180.00	\$4,500.00
98 5I01RES	4 Each	Relocate Existing Ground-Mounted Sign	\$375.00	\$1,500.00	\$300.00	\$1,200.00	\$440.00	\$1,760.00	\$1,303.02	\$5,212.08	\$1,350.00	\$5,400.00	\$125.00	\$500.00
99 5I01SNP	152 S.F.	Sign Panels	\$58.00	\$8,816.00	\$17.00	\$2,584.00	\$66.00	\$10,032.00	\$25.71	\$3,907.92	\$16.25	\$2,470.00	\$12.00	\$1,824.00
100 5I05SPP	150 L.F.	U-channel Post	\$39.00	\$5,850.00	\$16.00	\$2,400.00	\$66.00	\$9,900.00	\$56.47	\$8,470.50	\$16.00	\$2,400.00	\$5.00	\$750.00
101 5I11REM	10 Each	Remove Signs	\$125.00	\$1,250.00	\$200.00	\$2,000.00	\$330.00	\$3,300.00	\$77.27	\$772.70	\$154.00	\$1,540.00	\$125.00	\$1,250.00
102 5J01PCA		Parapet Connection, Type A	\$4,200.00		\$2,500.00	\$10,000.00	\$2,800.00	\$11,200.00	\$2,810.60	\$11,242.40	\$5,040.00	\$20,160.00	\$4,000.00	\$16,000.00
103 5J01RBG	110 L.F.	Removal of Beam Guide rail	\$7.00		\$15.00	\$1,650.00	\$1.00	\$110.00	\$18.29		\$1.05	\$115.50	\$20.00	\$2,200.00
104 5J51TTS	3 Each	Tangent Guide Rail Terminal	\$3,500.00			\$8,400.00	\$3,100.00	\$9,300.00	\$3,181.81	\$9,545.43	\$3,885.00	\$11,655.00	\$3,350.00	\$10,050.00
105 5J52ABG	1 Each	Beam Guide Rail Anchorage	\$1,200.00		\$1,000.00	\$1,000.00	\$1,045.00		\$1,007.57	\$1,007.57	\$1,155.00	\$1,155.00	\$1,110.00	\$1,110.00
106 5J52BGR	75 L.F.	Beam Guide Rail	\$33.00		\$28.00	\$2,100.00	\$33.00		\$31.82	\$2,386.50	\$35.00	\$2,625.00	\$50.00	\$3,750.00
107 5K00092	335 L.F.	Chain Link Fence, Type IV, 72" High, Black Powder Coated	\$105.00		\$60.00	\$20,100.00	\$46.00		\$47.73	\$15,989.55	\$55.60	\$18,626.00	\$58.00	\$19,430.00
108 5K72TCL 109 5N00003	1,610.00 L.F. 12 S.Y.	Temporary Chain Link Fence , 72" High Detectable Warning Surface	\$12.00 \$250.00		\$18.00 \$250.00	\$28,980.00 \$3,000.00	\$26.40 \$220.00		\$26.52 \$243.94	\$42,697.20 \$2,927.28	\$16.50 \$242.00	\$26,565.00 \$2,904.00	\$15.00 \$350.00	\$24,150.00 \$4,200.00
110 5N00009	1,960.00 S.Y.	Concrete Sidewalk, 4" Thick, Tinted	\$65.00 \$65.00		\$100.00	\$196,000.00	\$90.20		\$86.97	\$170,461.20	\$86.00	\$168,560.00	\$90.00	\$176,400.00
111 5N00010	15 S.Y.	Concrete Driveway Apron, 6" Thick, Tinted	\$125.00		\$120.00	\$1,800.00	\$129.80		\$125.42	\$1,881.30	\$124.00	\$1,860.00	\$300.00	\$4,500.00
112 5N04ACS	405 S.Y.	Asphalt Concrete Sidewalk, 4" Thick	\$35.00		-	\$22,275.00	\$26.00		\$50.91	\$20,618.55	\$58.00	\$23,490.00	\$30.00	\$12,150.00
113 5P20LLS	8,390.00 L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$0.50			\$5,034.00	\$1.00		\$0.68	\$5,705.20	\$0.45	\$3,775.50	\$0.60	\$5,034.00
114 5P30LLM	1,875.00 L.F.	Traffic Markings, Lines, long - Life, Epoxy Resin	\$1.00			\$2,062.50	\$1.00		\$1.91	\$3,581.25	\$0.95	\$1,781.25	\$1.00	\$1,875.00
115 5P32LLM	155 S.F.	Traffic Markings, Symbols, Long - Life, Epoxy Resin	\$13.00			\$1,240.00	\$11.00		\$23.33	\$3,616.15	\$10.50	\$1,627.50	\$8.00	\$1,240.00
118 5V01PIT	4 Each	Test Pits	\$1,500.00		\$2,500.00	\$10,000.00	\$650.00		\$917.63	\$3,670.52	\$1,570.00	\$6,280.00	\$2,000.00	\$8,000.00
119 5ZA0001	14 Each	Utility Support Hangers, Water	\$500.00	\$7,000.00	\$1,000.00	\$14,000.00	\$2,000.00	\$28,000.00	\$2,579.35	\$36,110.90	\$723.00	\$10,122.00	\$900.00	\$12,600.00
120 5ZA0002	14 Each	Utility Support Hangers, Electric	\$900.00		\$1,200.00	\$16,800.00	\$2,000.00		\$759.37	\$10,631.18	\$604.00	\$8,456.00	\$700.00	\$9,800.00
121 5ZB01RJB	2 Each	Reset Junction Box	\$900.00	\$1,800.00	\$1,800.00	\$3,600.00	\$528.00	\$1,056.00	\$1,169.69	\$2,339.38	\$1,840.00	\$3,680.00	\$1,200.00	\$2,400.00
122 5ZL0081	1 Each	Water Main Blow Off Assemblies	\$1,500.00			\$7,500.00	\$7,500.00	\$7,500.00	\$2,627.02	\$2,627.02	\$5,340.00	\$5,340.00	\$6,800.00	\$6,800.00
123 5ZL01FHA	3 Each	Fire Hydrant Assemblies	\$10,000.00			\$30,000.00	\$6,500.00		\$8,544.58	\$25,633.74	\$9,120.00	\$27,360.00	\$21,500.00	\$64,500.00
124 5ZL10MTD	2 Each	Manufactured Treatment Devices	\$40,000.00			\$130,000.00	\$75,000.00		\$36,021.41	\$72,042.82	\$60,000.00	\$120,000.00	\$44,000.00	\$88,000.00
125 5Z00188	271 L.F.	Steel Hand Rail, Black Powder Coated	\$250.00		\$450.00	\$121,950.00	\$300.00	\$81,300.00	\$237.00	\$64,227.00	\$260.00	\$70,460.00	\$265.00	\$71,815.00
126 5ZO0195	118 L.F.	20" Water Main, Bridge	\$400.00	\$47,200.00	\$600.00	\$70,800.00	\$580.00	\$68,440.00	\$644.33	\$76,030.94	\$790.00	\$93,220.00	\$450.00	\$53,100.00

		BaseLine Item Detail		Construction Co.,	ANSELMI DECICCO, INC.		Joseph M. Sanzari, Inc.		Ferreira Construction Co. Inc.		nc. Conti Enterprises, Inc.		Kyle Conti Construction, LLC	
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
127 5ZO0196	982 L.F.	20" Cement Lined Ductile Iron Pipe, Class 53, Water Main	\$335.00	\$328,970.00	\$300.00	\$294,600.00	\$255.00	\$250,410.00	\$483.85	\$475,140.70	\$330.00	\$324,060.00	\$365.00	\$358,430.00
128 5ZO0197	4 Each	20" Water Valve	\$25,000.00	\$100,000.00	\$30,000.00	\$120,000.00	\$27,000.00	\$108,000.00	\$28,487.24	\$113,948.96	\$23,000.00	\$92,000.00	\$33,000.00	\$132,000.00
129 5ZO0198	2 Each	Curb Boxes	\$200.00	\$400.00	\$300.00	\$600.00	\$528.00	\$1,056.00	\$314.27	\$628.54	\$40.00	\$80.00	\$1,350.00	\$2,700.00
130 6A00119	1 Each	Foundation, Type P-MC	\$4,500.00	\$4,500.00	\$1,200.00	\$1,200.00	\$3,675.00	\$3,675.00	\$3,351.50	\$3,351.50	\$2,750.00	\$2,750.00	\$3,300.00	\$3,300.00
131 6A00120	1 Each	Meter Cabinet, Type T	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$3,465.00	\$3,465.00	\$4,030.29	\$4,030.29	\$2,650.00	\$2,650.00	\$4,000.00	\$4,000.00
132 6A00121	1 Each	Controller, 8 Phase	\$15,000.00	\$15,000.00		\$16,000.00	\$17,850.00	\$17,850.00	\$15,463.59	\$15,463.59	\$15,100.00	\$15,100.00	\$15,300.00	\$15,300.00
133 6A00122	1 Each	Controller Turn-On	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	\$5,775.00	\$5,775.00	\$5,780.28	\$5,780.28	\$7,900.00	\$7,900.00	\$5,725.00	\$5,725.00
134 6A00155	6 Each	Junction Box, 18" X 36" (NJDOT)	\$1,800.00	\$10,800.00	\$2,000.00	\$12,000.00	\$2,258.00	\$13,548.00	\$1,871.96	\$11,231.76	\$2,150.00	\$12,900.00	\$1,850.00	\$11,100.00
135 6A00157	770 L.F.	Service Wire, No. 2 AWG	\$5.00	\$3,850.00	•	\$5,390.00	\$5.00	\$3,850.00	\$3.08	\$2,371.60	\$4.75	\$3,657.50	\$3.00	\$2,310.00
136 6A00159	2 Each	Meter Cabinet, Type L	\$3,000.00	\$6,000.00		\$10,000.00	\$4,410.00	\$8,820.00	\$4,242.41	\$8,484.82	\$2,950.00	\$5,900.00	\$4,200.00	\$8,400.00
137 6A00177	24 Each	Junction Box, 12" x 18"	\$925.00	\$22,200.00	\$1,000.00	\$24,000.00	\$1,392.00	\$33,408.00	\$1,134.85	\$27,236.40	\$2,970.00	\$71,280.00	\$1,125.00	\$27,000.00
138 6A00178	1 Each	Uninterruptible Power Supply (UPS) w/ Controller Cabinet Revisions	\$6,000.00	\$6,000.00		\$6,000.00	\$6,826.00	\$6,826.00	\$5,918.16	\$5,918.16	\$5,870.00	\$5,870.00	\$5,860.00	\$5,860.00
139 6A10GWR	300 L.F.	#10 A.W.G. Ground Wire	\$2.00	\$600.00	\$3.00	\$900.00	\$2.00	\$600.00	\$1.43	\$429.00	\$1.35	\$405.00	\$1.40	\$420.00
140 6A01RMU	280 L.F.	1" Rigid Metallic Conduit, Underground	\$18.00	\$5,040.00	\$30.00	\$8,400.00	\$29.00	\$8,120.00	\$27.58	\$7,722.40	\$28.00	\$7,840.00	\$27.00	\$7,560.00
141 6A02RMU	3,260.00 L.F.	2" Rigid Metallic Conduit, Underground	\$22.00	\$71,720.00	•	\$130,400.00	\$31.00	\$101,060.00	\$31.82	\$103,733.20	\$33.50	\$109,210.00	\$31.00	\$101,060.00
142 6A03RMU	695 L.F.	3" Rigid Metallic Conduit, Underground	\$48.00	\$33,360.00	•	\$34,750.00	\$52.00	\$36,140.00	\$58.33	\$40,539.35	\$49.00	\$34,055.00	\$57.50	\$39,962.50
143 6A06MLC	8,150.00 L.F.	#6 A.W.G. Multiple Lighting Cable	\$2.70	\$22,005.00	•	\$40,750.00	\$4.00	\$32,600.00	\$2.23	\$18,174.50	\$2.65	\$21,597.50	\$2.20	\$17,930.00
144 6A06SWR	640 L.F.	#6 A.W.G. Service Wire	\$3.00	\$1,920.00	\$6.00	\$3,840.00	\$4.00	\$2,560.00	\$1.86	\$1,190.40	\$2.80	\$1,792.00	\$1.80	\$1,152.00
145 6A08GWR	3,670.00 L.F.	#8 A.W.G. Ground Wire	\$1.80	\$6,606.00	\$4.00	\$14,680.00	\$2.00	\$7,340.00	\$1.86	\$6,826.20	\$1.70	\$6,239.00	\$1.80	\$6,606.00
146 6A11MLC	595 L.F.	#10 A.W.G. Multiple Lighting Cable	\$3.00	\$1,785.00	\$3.00	\$1,785.00	\$3.00	\$1,785.00	\$1.48	\$880.60	\$2.40	\$1,428.00	\$1.45	\$862.75
147 6B00109	2 Each	Foundation, Type MCF	\$2,200.00	\$4,400.00	\$1,000.00	\$2,000.00	\$1,945.00	\$3,890.00	\$1,362.88	\$2,725.76	\$1,155.00	\$2,310.00	\$1,350.00	\$2,700.00
148 6B00158	21 Each	Decorative Luminaire	\$3,000.00	\$63,000.00	\$3,000.00	\$63,000.00	\$2,992.00	\$62,832.00	\$2,863.63	\$60,136.23	\$2,980.00	\$62,580.00	\$2,835.00	\$59,535.00
149 6B00159	21 Each	Decorative Lighting Pole	\$3,000.00	\$63,000.00	\$3,500.00	\$73,500.00	\$2,625.00	\$55,125.00	\$2,720.45	\$57,129.45	\$2,880.00	\$60,480.00	\$2,700.00	\$56,700.00
150 6B00169	14 Each	Decorative Pole Foundation	\$1,500.00	\$21,000.00	\$1,000.00	\$14,000.00	\$1,024.00	\$14,336.00	\$1,193.18	\$16,704.52	\$1,103.00	\$15,442.00	\$1,180.00	\$16,520.00
151 6H00006	4 Each	Image Detector	\$5,500.00	\$22,000.00	\$6,000.00	\$24,000.00	\$6,405.00	\$25,620.00	\$5,048.47	\$20,193.88	\$5,670.00	\$22,680.00	\$5,000.00	\$20,000.00
152 6H00080	8 Each	Accessible Pedestrian Push Button Station	\$1,200.00	\$9,600.00	\$1,400.00	\$11,200.00	\$1,575.00	\$12,600.00	\$1,272.72	\$10,181.76	\$1,225.00	\$9,800.00	\$1,260.00	\$10,080.00
153 6H00PSH	8 Each	Pedestrian Signal Head	\$1,000.00	\$8,000.00	\$1,250.00	\$10,000.00	\$1,155.00	\$9,240.00	\$848.48	\$6,787.84	\$955.00	\$7,640.00	\$840.00	\$6,720.00
154 6H00SFT	4 Each	Foundation, Type SFT	\$2,600.00	\$10,400.00	\$1,200.00	\$4,800.00	\$2,074.00	\$8,296.00	\$2,163.63	\$8,654.52	\$1,628.00	\$6,512.00	\$2,140.00	\$8,560.00
155 6H00SPF	6 Each	Foundation, Type SPF	\$1,300.00	\$7,800.00	\$900.00	\$5,400.00	\$1,942.00	\$11,652.00	\$1,643.94	\$9,863.64	\$1,024.00	\$6,144.00	\$1,630.00	\$9,780.00
156 6H00TSH	8 Each	Traffic Signal Head	\$1,200.00	\$9,600.00	\$800.00	\$6,400.00	\$1,339.00	\$10,712.00	\$1,113.63	\$8,909.04	\$1,185.00	\$9,480.00	\$1,100.00	\$8,800.00
157 6H00TSM	4 Each	Traffic Signal Mast Arm, Aluminum	\$1,700.00	\$6,800.00	\$1,800.00	\$7,200.00	\$2,284.00	\$9,136.00	\$3,012.11	\$12,048.44	\$1,685.00	\$6,740.00	\$3,000.00	\$12,000.00
158 6H02TSC	1,615.00 L.F.	Traffic Signal Cable, 2 Conductor	\$2.60	\$4,199.00	\$3.00	\$4,845.00	\$3.00	\$4,845.00	\$2.02	\$3,262.30	\$2.50	\$4,037.50	\$2.00	\$3,230.00
159 6H04PSA	6 Each	Pedestrian Signal Standard	\$900.00	\$5,400.00	\$1,000.00	\$6,000.00	\$1,060.00	\$6,360.00	\$763.63	\$4,581.78	\$845.00	\$5,070.00	\$755.00	\$4,530.00
160 6H05TSC	1,615.00 L.F.	Traffic Signal Cable, 5 Conductor	\$3.00	\$4,845.00	\$4.00	\$6,460.00	\$3.00	\$4,845.00	\$2.44	\$3,940.60	\$2.75	\$4,441.25	\$2.40	\$3,876.00
161 6H06TSS	4 Each	Traffic Signal Standard, Aluminum	\$2,200.00	\$8,800.00	\$2,500.00	\$10,000.00	\$2,625.00	\$10,500.00	\$2,211.36	\$8,845.44	\$2,205.00	\$8,820.00	\$2,200.00	\$8,800.00
162 6H10TSC	800 L.F.	Traffic Signal Cable, 10 Conductor	\$4.00	\$3,200.00	\$5.00	\$4,000.00	\$4.00	\$3,200.00	\$3.08	\$2,464.00	\$3.65	\$2,920.00	\$3.00	\$2,400.00
163 7C01TOP	2,665.00 S.Y.	Topsoil	\$7.00	\$18,655.00	\$3.00	\$7,995.00	\$7.00	\$18,655.00	\$7.16	\$19,081.40	\$5.25	\$13,991.25	\$18.00	\$47,970.00
164 7D01SED	2,665.00 S.Y.	Seeding, Type A	\$1.00	\$2,665.00	\$1.10	\$2,931.50	\$2.00	\$5,330.00	\$1.86	\$4,956.90	\$1.45	\$3,864.25	\$6.00	\$15,990.00
165 7D20MOW	3 Acre	Mowing	\$1,600.00	\$4,800.00	\$450.00	\$1,350.00	\$550.00	\$1,650.00	\$768.94	\$2,306.82	\$780.00	\$2,340.00	\$750.00	\$2,250.00
166 7F01SSM	253 S.Y.	Soil Stablization Matting	\$12.00	\$3,036.00		\$1,518.00	\$5.00	\$1,265.00	\$4.24	\$1,072.72	\$4.20	\$1,062.60	\$10.00	\$2,530.00
167 7100002	285 S.Y.	Remove Block Pavers	\$21.00	\$5,985.00	\$10.00	\$2,850.00	\$6.00	\$1,710.00	\$16.07	\$4,579.95	\$90.00	\$25,650.00	\$65.00	\$18,525.00
168 8A01MPT	1 L.S.	Furnishing Traffic Control Devices	\$125,000.00	\$125,000.00	\$25,000.00	\$25,000.00	\$80,000.00	\$80,000.00	\$174,348.98	\$174,348.98	\$91,300.00	\$91,300.00	\$90,000.00	\$90,000.00
169 8A29MPT	600 M.H.	Flaggers	\$0.01	\$6.00	\$85.00	\$51,000.00	\$85.00	\$51,000.00	\$103.56	\$62,136.00	\$95.00	\$57,000.00	\$25.00	\$15,000.00
170 N8A0001	80 L.F.	Furnishing Precast Concrete Construction Barrier	\$30.00	\$2,400.00		\$4,000.00	\$25.00	\$2,000.00	\$40.00	\$3,200.00	\$9.00	\$720.00	\$50.00	\$4,000.00
171 N8A0002	300 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$10.00	\$3,000.00		\$3,000.00	\$20.00	\$6,000.00	\$28.40	\$8,520.00	\$12.00	\$3,600.00	\$25.00	\$7,500.00
172 2F03TEX	1,027.00 C.Y.	Trench Excavation, Earth	\$0.01	\$10.27		\$5,135.00	\$35.00	\$35,945.00	\$37.62	\$38,635.74	\$1.00	\$1,027.00	\$60.00	\$61,620.00
173 2H20TEC	5 Ton	Temporary Stone, Grade A	\$125.00	\$625.00	\$50.00	\$250.00	\$110.00	\$550.00	\$182.12	\$910.60	\$440.00	\$2,200.00	\$200.00	\$1,000.00
174 2M00034	4,280.00 Ton	Disposal of Regulated Material	\$42.00	\$179,760.00		\$299,600.00	\$52.80	\$225,984.00	\$50.00	\$214,000.00	\$47.00	\$201,160.00	\$70.00	\$299,600.00
175 4ZM05HPC	271 S.Y.	Bridge Approach Slab, HPC	\$500.00	\$135,500.00		\$135,500.00	\$350.00	\$94,850.00	\$342.57	\$92,836.47	\$370.00	\$100,270.00	\$400.00	\$108,400.00
176 5Q00008	15,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$15,000.00		\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
177 5Q01FAL	1 L.S.	Furnish Field Office, Type A	\$30,000.00	\$30,000.00		\$40,000.00	\$12,500.00	\$12,500.00	\$25,000.00	\$25,000.00	\$44,000.00	\$44,000.00	\$25,000.00	\$25,000.00
178 5Q02MFA	28 Mnth		\$3,000.00	\$84,000.00		\$84,000.00	\$2,000.00	\$56,000.00	\$2,500.00	\$70,000.00	\$4,000.00	\$112,000.00	\$1,000.00	\$28,000.00
179 1HFP003	2,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$2,000.00		\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
180 2B00007	15,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$15,000.00		\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
181 3B00018	10,000.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$10,000.00		\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
		Clearing and Grubbing	\$269,000.00	\$269,000.00		\$30,000.00	\$40,000.00	\$40,000.00	\$40,000.00		\$295,000.00	\$295,000.00	\$350,000.00	\$350,000.00
182 2A02CAG	1 L.S.													

Tem No. Unit Code Cy Unit Code Cy Unit Code Cy Unit Price Un	\$100,000.00 \$ \$624,654.00 \$ \$25,000.00 \$ \$20,000.00 \$ \$377,130.00 \$ \$8,320.00 \$188,050.00 \$ \$207,581.95 \$ \$44,352.00	\$170,000.00	\$170,000.00 \$675,000.00 \$30,000.00 \$1.00 \$348,120.00
2 11010M0B 1 L.S. Mobilization \$588,000.0 \$588,000.00 \$583,000.00 \$583,000.00 \$510,000.00 \$510,000.00 \$510,000.00 \$21,000.00 \$21,000.00 \$22,000.00 \$22,000.00 \$22,000.00 \$20	\$624,654.00 \$ \$25,000.00 \$20,000.00 \$377,130.00 \$8,320.00 \$188,050.00 \$207,581.95 \$44,352.00	\$675,000.00 \$30,000.00 \$1.00 \$60.00 \$45.00 \$65.00	\$675,000.00 \$30,000.00 \$1.00
3 1601SCH	\$25,000.00 \$20,000.00 \$377,130.00 \$8,320.00 \$188,050.00 \$207,581.95 \$44,352.00	\$30,000.00 \$1.00 \$60.00 \$45.00 \$65.00	\$30,000.00 \$1.00
5 101MAB 1 LS. Maintenance Bond \$0.01 \$0.00 \$1,000.00 \$1,000.00 \$1,000.00 \$20,000.00	\$20,000.00 \$377,130.00 \$8,320.00 \$188,050.00 \$207,581.95 \$44,352.00	\$1.00 \$60.00 \$45.00 \$65.00	\$1.00
8 2804REX 5,802.00 C.Y. Roadway Excavation and Embankment \$40.23 \$233,414.66 \$65.00 \$377,130.00 \$56.00 \$57,03.00 \$56.00 \$377,130.00 \$65.00 \$377,130.00 \$65.00 \$377,130.00 \$65.00 \$377,130.00 \$65.00 \$40.00 \$50.00 <td>\$377,130.00 \$8,320.00 \$188,050.00 \$207,581.95 \$44,352.00</td> <td>\$60.00 \$45.00 \$65.00</td> <td>•</td>	\$377,130.00 \$8,320.00 \$188,050.00 \$207,581.95 \$44,352.00	\$60.00 \$45.00 \$65.00	•
9 2815STS	\$8,320.00 \$188,050.00 \$207,581.95 \$44,352.00	\$45.00 \$65.00	\$348,120.00
10 2B200VR 3,761.00 C.Y. Overload Removal \$47.12 \$177,218.32 \$40.00 \$150,440.00 \$710,000.00 \$120,874.00 \$25.00 \$94,025.00 \$50.00 \$120,000.00 \$150,079.00 \$150,079.00 \$207,581.95 \$13 200008 \$1,232.00 C.Y. \$75 Yone Backfill \$860,232.27 \$860,232.27 \$860,232.27 \$860,232.27 \$80,000.00 \$700,000.00 \$770,000.00 \$150,079.00 \$150,079.00 \$207,581.95 \$13 200008 \$1,240.00 \$1,232.00 C.Y. \$75 Yone Backfill \$1,240.00 \$10,000.00	\$188,050.00 \$207,581.95 \$44,352.00	\$65.00	,
12 N280002	\$207,581.95 \$ \$44,352.00		\$4,680.00
13 2C00008	\$44,352.00	\$225,000,00	\$244,465.00
14 2C01EMB 2,477.00 C.Y. Embankment, Common \$50.16 \$124,246.32 \$35.00 \$86,695.00 \$45.00 \$111,465.00 \$25.00 15 2C02EMB 651 C.Y. Embankment, Grade A \$71.39 \$46,474.89 \$80.00 \$52,080.00 \$39,060.00 \$39,060.00 \$39,060.00 \$39,060.00 \$40.00 16 2C04EMB 82 C.Y. Porous Fill \$10.06 \$82,53.30 \$150.00 \$21,300.00 \$300.00 \$24,600.00 \$60.00 \$49,000 \$40.00 17 2C13EMB 20,460.00 S.F. Geotextile Filter Fabric \$1.48 \$30,280.80 \$3.00 \$1,000 \$20,460.00 \$12.00 \$57,880.00 \$1.50 18 2C14EMB 482 S.Y. Geotextile Filter Fabric \$11.00 \$5,300.00 \$1,446.00 \$40.00 \$1,928.00 \$12.00 \$57,880.00 \$1.50 19 N2C0005 5 Each Settlement Platforms \$6,303.85 \$31,519.25 \$3,000.00 \$1,000.00 \$40.00 \$21,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00 <td></td> <td>+===,====</td> <td>\$225,000.00</td>		+===,====	\$225,000.00
15 2C02EMB 651 C.Y. Embankment, Grade A \$71.39 \$46,474.89 \$80.0 \$52,080.00 \$50.00 \$39,06		\$65.00	\$80,080.00
16 2C04EMB 82 C.Y. Porous Fill \$10.65 \$8,253.30 \$150.00 \$12,300.00 \$24,600.00 \$60.00 \$4,920.00 \$40.00 \$17 2C13EMB 20,460.00 \$.F. Geosynthetic Embankment Reinforcement, Type A \$1.48 \$30,280.80 \$3.00 \$61,380.00 \$1.00 \$20,460.00 \$3.00 \$51,080.00 \$1.50 \$1.50 \$1.80 \$1.50 \$1.80 \$1.50 \$1.80 \$1.80 \$1.50 \$1.80 \$1.		\$80.00	\$198,160.00
17 2C13EMB		\$90.00	\$58,590.00
18 2C14EMB 482 S.Y. Geotextile Filter Fabric \$11.00 \$5,302.00 \$3.00 \$1,446.00 \$4.00 \$1,928.00 \$12.00 \$5,784.00 \$1.50 19 N2C0005 5 Each Settlement Platforms \$6,303.85 \$31,519.25 \$3,000.00 \$15,000.00 \$4,000.00 \$2,000.00 \$2,000.00 \$2,000.00 20 N2C0010 530 L.F. Inclinometer Casing \$182.68 \$96,820.40 \$70.00 \$37,100.00 \$21,000.00 \$2,000.00 \$2,000.00 \$9.00 21 N2C0011 1 Each Inclinometer Sensors With Cable And Inclinometer Software \$9,666.65 \$9,000.00 \$9,000.00 \$1,000.00 \$5,000.00 \$5,000.00 \$30,875.00 22 N2C0012 1 Each Inclinometer Readout Unit \$349.57 \$349.57 \$500.00 \$6,000.00 \$5,000.00 \$5,000.00 \$1,500.00 23 N2C0014 86,654.00 L.F. Vertical Wick Drains \$1.67 \$144,712.18 \$3.50 \$303,289.00 \$2.00 \$173,308.00 \$25,000.00 \$455,000.00 \$455,000.00 \$455,000.00 \$450,000.00 \$450,000.00 \$455,000.00 \$455,000.00 \$400,000.00 \$400,000.00 <t< td=""><td></td><td>\$110.00</td><td>\$9,020.00</td></t<>		\$110.00	\$9,020.00
19 N2C0005 5 Each Settlement Platforms \$6,303.85 \$31,519.25 \$3,000.00 \$15,000.00 \$4,000.00 \$2,00		\$2.50	\$51,150.00
20 N2C0010 530 L.F. Inclinometer Casing \$182.68 \$96,820.40 \$70.00 \$37,100.00 \$21,200.00 \$80.00 \$42,400.00 \$99.00 21 N2C0011 1 Each Inclinometer Sensors With Cable And Inclinometer Software \$9,666.65 \$9,000.00 \$9,000.00 \$1,000.00 \$1,000.00 \$5,000.00 \$5,000.00 \$30,875.00 22 N2C0012 1 Each Inclinometer Readout Unit \$349.57 \$500.00 \$349.57 \$500.00 \$5,000.00 \$5,000.00 \$5,000.00 \$5,000.00 \$1,500.00 \$5,000.00 \$1,500.00 \$1,000.00	•	\$3.25	\$1,566.50
21 N2C0011 1 Each Inclinometer Sensors With Cable And Inclinometer Software \$9,666.65 \$9,666.65 \$9,000.00 \$1,000.00 \$1,000.00 \$5,000.00 \$5,000.00 \$30,875.00 22 N2C0012 1 Each Inclinometer Readout Unit \$349.57 \$500.00 \$500.00 \$6,000.00 \$5,000.00 \$5,000.00 \$1,500.00 23 N2C0014 86,654.00 L.F. Vertical Wick Drains \$1.67 \$144,712.18 \$3.50 \$303,289.00 \$2.00 \$173,308.00 \$259,962.00 \$35.00 24 2D01DAM 1 L.S. Cofferdam No. 1 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 25 2D02DAM 1 L.S. Cofferdam No. 2 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 26 2E01FEX 409 C.Y. Foundation Excavation \$32.52 \$13,300.68 \$85.00 \$34,765.00 \$90.00 \$36,810.00 \$59,305.00 \$59,305.00		\$6,500.00	\$32,500.00
22 N2C0012 1 Each Inclinometer Readout Unit \$349.57 \$349.57 \$500.00 \$6,000.00 \$5,000.00 \$5,000.00 \$1,500.00 23 N2C0014 86,654.00 L.F. Vertical Wick Drains \$1.67 \$144,712.18 \$3.50 \$303,289.00 \$2.00 \$173,308.00 \$259,962.00 \$350 24 2D01DAM 1 L.S. Cofferdam No. 1 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 25 2D02DAM 1 L.S. Cofferdam No. 2 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 26 2E01FEX 409 C.Y. Foundation Excavation \$32.52 \$13,300.68 \$85.00 \$34,765.00 \$90.00 \$36,810.00 \$59,305.00 \$150.00		\$95.00	\$50,350.00
23 N2C0014 86,654.00 L.F. Vertical Wick Drains \$1.67 \$144,712.18 \$3.50 \$303,289.00 \$2.00 \$173,308.00 \$3.00 \$259,962.00 \$3.50 24 2D01DAM 1 L.S. Cofferdam No. 1 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 25 2D02DAM 1 L.S. Cofferdam No. 2 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 26 2E01FEX 409 C.Y. Foundataion Excavation \$32.52 \$13,300.68 \$85.00 \$34,765.00 \$90.00 \$36,810.00 \$145.00 \$59,305.00 \$150.00		\$25,000.00	\$25,000.00
24 2D01DAM 1 L.S. Cofferdam No. 1 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 25 2D02DAM 1 L.S. Cofferdam No. 2 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 26 2E01FEX 409 C.Y. Foundataion Excavation \$32.52 \$13,300.68 \$85.00 \$34,765.00 \$90.00 \$36,810.00 \$145.00 \$59,305.00 \$150.00	\$1,500.00	\$6,000.00	\$6,000.00
25 2D02DAM 1 L.S. Cofferdam No. 2 \$205,000.00 \$205,000.00 \$300,000.00 \$340,000.00 \$340,000.00 \$455,000.00 \$400,000.00 26 2E01FEX 409 C.Y. Foundataion Excavation \$32.52 \$13,300.68 \$85.00 \$34,765.00 \$90.00 \$36,810.00 \$145.00 \$59,305.00 \$150.00		\$3.25	\$281,625.50
26 2E01FEX 409 C.Y. Foundataion Excavation \$32.52 \$13,300.68 \$85.00 \$34,765.00 \$90.00 \$36,810.00 \$145.00 \$59,305.00 \$150.00		\$410,000.00	\$410,000.00
		\$410,000.00	\$410,000.00
27.2600016 425 10n Riprap Stone Slope Protection, 24" Inick (D50=12") 587.04 536.992.00 575.00 531.875.00 546.750.00 575.00 531.875.00 510.00		\$28.00	\$11,452.00
		\$125.00	\$53,125.00
28 2H00016 12 Each Inlet Filter, Type 2 \$346.45 \$4,157.40 \$60.00 \$720.00 \$100.00 \$1,200.00 \$250.00 \$3,000.00 \$170.00		\$265.00	\$3,180.00
29 2H00018 2 Each Sediment Control Bags \$1,224.87 \$2,449.74 \$200.00 \$400.00 \$2,000.00 \$4,000.00 \$2,500.00 \$5,000.00 \$450.00 \$450.00 \$0.00 \$1,000.00 \$4,000.00 \$2,500.00 \$4,000.0	•	\$2,000.00	\$4,000.00
30 2H00021 2 Each Concrete Washout Facility \$9,350.88 \$18,701.76 \$750.00 \$1,500.00 \$24,000.00 \$6,000.00 \$12,000.00 \$800.00 \$12,000.0		\$20,000.00	\$40,000.00
31 2H01DSC 4,160.00 S.Y. Temporary Seeding \$1.17 \$4,867.20 \$1.00 \$4,160.00 \$1.20 \$4,992.00 \$1.00 \$4,160.00 \$1.00		\$4.00	\$16,640.00
32 2H05DSC 30 KGAL Watering \$116.52 \$3,495.60 \$20.00 \$600.00 \$410.00 \$12,300.00 \$25.00 \$750.00 \$35.75 33 2H25TEC 10 C.Y. Hay Bales \$685.86 \$6,858.60 \$50.00 \$500.00 \$300.00 \$3,000.00 \$300.00 \$300.00 \$125.00		\$600.00	\$18,000.00
		\$125.00 \$65.00	\$1,250.00 \$16,055.00
34 2H35TEC 247 L.F. Floating Turbidity Barriers \$48.26 \$11,920.22 \$40.00 \$9,880.00 \$9,880.00 \$35.00 \$8,645.00 \$33.00 35 2H45TEC 198 Ton Construction Driveway \$55.83 \$11,054.34 \$80.00 \$15,840.00 \$55.00 \$10,890.00 \$7,920.00 \$78.00		\$85.00	\$16,830.00
36 N2H0002 2,305.00 L.F. Heavy Duty Silt Fence \$10.12 \$23,326.60 \$13.00 \$29,965.00 \$9.00 \$20,745.00 \$7.00 \$16,135.00 \$10.00		\$9.00	\$20,745.00
37 2M00003 1 L.S. Vibration and Movement Monitoring \$47,249.58 \$75,000.00 \$75,000.00 \$40,000.00 \$104,749.00 \$104,749.00 \$65,000.00		\$50,000.00	\$50,000.00
37 2M00005 1 2.5. Vibration and Movement Worldon's \$47,245.56 \$47,245.56 \$47,245.56 \$47,245.56 \$47,245.56 \$47,45.50 \$45,000.00 \$40,0		\$12.00	\$10,200.00
39 3A08ABC 5,510.00 S.Y. Aggregate Base Course, 8" Thick \$15.24 \$83,972.40 \$20.00 \$110,200.00 \$16.00 \$88,160.00 \$14.00 \$77,140.00 \$13.00		\$15.00	\$82,650.00
40 3B00006 800 Ton Hot Mix Asphalt 12.5 M 64-22 Surface Course \$135.17 \$108,136.00 \$160.00 \$128,000.00 \$110.00 \$88,000.00 \$12.00 \$97,600.00 \$116.00		\$145.00	\$116,000.00
41 3B00010 2,520.00 Ton Hot Mix Asphalt 19 M 64 Base Course \$151.77 \$382,460.40 \$150.00 \$378,000.00 \$110.00 \$277,200.00 \$120.00 \$302,400.00 \$130.25		\$135.00	\$340,200.00
42 3B26TAC 515 GAL Tack Coat \$13.98 \$7,199.70 \$13.00 \$6,695.00 \$2,060.00 \$5.00 \$2,575.00 \$12.00		\$6.00	\$3,090.00
44 3C01BRS 145 S.Y. Berm Surfacing, 3 Inches Thick \$69.91 \$10,136.95 \$45.00 \$6,525.00 \$35.00 \$5,075.00 \$60.00 \$8,700.00 \$45.00		\$40.00	\$5,800.00
46 3E07PMR 300 S.Y. Pavement Removal, 2" Depth \$23.30 \$6,990.00 \$22.00 \$6,600.00 \$20.00 \$6,000.00 \$35.00 \$10,500.00 \$118.00		\$13.00	\$3,900.00
47 3E20PMR 75 S.Y. Pavement Removal, Variable Depth \$33.79 \$2,534.25 \$31.00 \$2,325.00 \$30.00 \$2,250.00 \$50.00 \$3,750.00 \$150.00		\$25.00	\$1,875.00
48 3E40PMR 345 S.Y. Surface Milling \$23.30 \$8,038.50 \$22.00 \$7,590.00 \$6,900.00 \$25.00 \$8,625.00 \$20.00		\$12.00	\$4,140.00
49 3E50PMR 815 S.Y. Surface Milling, 2" Average Depth \$23.30 \$18,989.50 \$22.00 \$17,930.00 \$20.00 \$16,300.00 \$25.00 \$20,375.00 \$20.00		\$12.50	\$10,187.50
50 4A00018		\$6,100.00	\$61,000.00
51 4A04STC 151 C.Y. Concrete In Footings \$728.68 \$110,030.68 \$900.00 \$135,900.00 \$120,800.00 \$750.00 \$113,250.00 \$800.00		\$1,400.00	\$211,400.00
52 4A10AAF 123 C.Y. Concrete in Abutments Above Footings \$1,243.12 \$152,903.76 \$1,800.00 \$221,400.00 \$1,500.00 \$1,850.00 \$227,550.00 \$2,000.00		\$900.00	\$110,700.00
53 4A10COP 23 C.Y. Concrete in Coping \$3,520.23 \$80,965.29 \$2,000.00 \$46,000.00 \$2,500.00 \$2,150.00 \$49,450.00 \$1,500.00		\$2,700.00	\$62,100.00
54 4A11RFS 74,444.00 LB Reinforcement Steel, Epoxy Coated \$1.90 \$141,443.60 \$2.00 \$148,888.00 \$2.20 \$163,776.80 \$2.00 \$148,888.00 \$2.00		\$3.00	\$223,332.00
55 N4A0001 496 S.Y. Sawcut Grooved Deck Surface \$20.16 \$9,999.36 \$9.00 \$4,464.00 \$10.00 \$4,960.00 \$10.00 \$4,960.00 \$10.80		\$25.00	\$12,400.00
56 N4A0003 87 L.F. Strip Seal Expansion Joints, 4" Movement \$484.42 \$42,144.54 \$450.00 \$39,150.00 \$380.00 \$33,060.00 \$600.00 \$52,200.00 \$550.00	\$47,850.00	\$475.00	\$41,325.00
57 4B00023 690 L.F. Prestressed Concrete Beams, Type V \$631.41 \$435,672.90 \$850.00 \$586,500.00 \$1,100.00 \$759,000.00 \$1,100.00 \$759,000.00 \$1,200.00	\$828,000.00	\$720.00	\$496,800.00
58 4CSSL01 1 L.S. Structural Steel Structure No. 1 \$50,000.00 \$50,000.00 \$20,000.00 \$30,000.00 \$30,000.00 \$45,000.00 \$125,000.00	\$125,000.00	\$45,000.00	\$45,000.00
59 4CSSL02 1 L.S. Structural Steel Structure No. 2 \$50,000.00 \$19,000.00 \$19,000.00 \$30,000.00 \$40,000.00 \$125,000.00	\$125,000.00	\$45,000.00	\$45,000.00
60 4.00E+108 32 M.H. Obstruction Removal During Pile Driving \$1,137.30 \$36,393.60 \$800.00 \$25,600.00 \$1,100.00 \$35,200.00 \$3,000.00 \$96,000.00 \$1,600.00		\$1,200.00	\$38,400.00
61 4.00E+131 2,964.00 L.F. Furnishing Cast-in-Place Concrete Pile, 24" O.D. \$140.99 \$417,894.36 \$140.00 \$414,960.00 \$130.00 \$385,320.00 \$95.00 \$281,580.00 \$83.00	\$246,012.00	\$150.00	\$444,600.00
62 4.00E+132 2,834.00 L.F. Driving Cast-in-Place Concrete Pile, 24" O.D. \$46.61 \$132,092.74 \$100.00 \$283,400.00 \$45.00 \$127,530.00 \$110.00 \$311,740.00 \$170.00	\$481,780.00	\$50.00	\$141,700.00
63 4.00E+133 255 L.F. Furnishing Cast-in-Place Concrete Test Pile, 24" O.D. \$136.33 \$34,764.15 \$200.00 \$51,000.00 \$150.00 \$38,250.00 \$125.00 \$31,875.00 \$83.00	\$21,165.00	\$155.00	\$39,525.00
64 4.00E+134 218 L.F. Driving Cast-in-Place Concrete Test Pile, 24" O.D. \$131.09 \$28,577.62 \$250.00 \$54,500.00 \$150.00 \$32,700.00 \$175.00 \$38,150.00 \$200.00	\$43,600.00	\$80.00	\$17,440.00
65 4E01EDP 1 L.S. Furnishing Equipment for Driving Piles \$75,000.00 \$125,000.00 \$125,000.00 \$300,000.00 \$250,000.00 \$180,000.00	\$180,000.00 \$	\$250,000.00	\$250,000.00

		BaseLine Item Detail	IEW Constru	ction Group Inc.	Carbro Cons	structors Corp.	D'Annunzi	o & Sons, Inc.	J. Fletcher Cr	eamer & Son, Inc.	Northeast Rems	co Construction, Inc.	George Harms Co	onstruction Co., Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
66 4E01PDA	4 Each	Restrike With PDA and CAPWAP Analysis	\$2,796.52	\$11,186.08	\$3,500.00	\$14,000.00	\$3,500.00	\$14,000.00	\$10,000.00	\$40,000.00	\$4,800.00	\$19,200.00	\$5,500.00	\$22,000.00
67 4E01PLT	2 Each	Dynamic Pile Load Tests	\$5,593.05		\$3,000.00	\$6,000.00	\$6,000.00	\$12,000.00	\$5,000.00	\$10,000.00	\$1,900.00		\$6,500.00	\$13,000.00
68 4H00008	12 Each	Laminated Elastomeric Bearing, 15" x 21"	\$3,931.71	\$47,180.52	\$7,500.00	\$90,000.00	\$4,600.00	\$55,200.00	\$4,000.00	\$48,000.00	\$5,500.00		\$7,500.00	\$90,000.00
69 4J01DAW	149 S.Y.	Damp-proofing	\$53.36		\$60.00	\$8,940.00	\$25.00	\$3,725.00	\$50.00	\$7,450.00	\$70.00		\$60.00	\$8,940.00
70 4N05BRL	797 L.F.	Bridge Railing	\$219.36	\$174,829.92	\$180.00	\$143,460.00	\$190.00	\$151,430.00	\$215.00	\$171,355.00	\$175.00	\$139,475.00	\$250.00	\$199,250.00
71 4001TSP	300 S.F.	Temporary Sheeting	\$243.50	\$73,050.00	\$170.00	\$51,000.00	\$150.00	\$45,000.00	\$100.00	\$30,000.00	\$90.00	\$27,000.00	\$225.00	\$67,500.00
72 4P04PSS	3,457.00 S.F.	Permanent Steel Sheeting, Type AZ18	\$49.52	\$171,190.64	\$70.00	\$241,990.00	\$50.00	\$172,850.00	\$55.00	\$190,135.00		\$172,850.00	\$70.00	\$241,990.00
73 4P15PCS	6,913.00 S.F.	Protective Coating	\$7.57	\$52,331.41	\$5.50	\$38,021.50	\$5.00	\$34,565.00	\$4.00	\$27,652.00	\$2.55	\$17,628.15	\$5.00	\$34,565.00
74 N4Q0013	6,594.00 S.F.	Temporary Shielding	\$26.06		\$10.00	\$65,940.00	\$10.00	\$65,940.00	\$30.00	\$197,820.00	\$6.00		\$6.00	\$39,564.00
75 4R25BSR	1,030.00 S.F.	Substructure Membrane Waterproofing	\$14.74	. ,	\$7.00	\$7,210.00	\$13.00	\$13,390.00	\$15.00	\$15,450.00	\$14.50	\$14,935.00	\$14.50	\$14,935.00
76 4ZF01TMP	8,450.00 S.F.	Temporary MSE Welded Wire Mesh Wall	\$53.50	\$452,075.00	\$150.00	\$1,267,500.00	\$38.00	\$321,100.00	\$50.00	\$422,500.00	\$30.00	\$253,500.00	\$60.00	\$507,000.00
77 4ZF04MSE	2,721.00 S.F.	Mechanically Stabilized Earth Walls (Two-Stage)	\$441.46	. , ,	\$320.00	\$870,720.00	\$440.00	\$1,197,240.00	\$450.00	\$1,224,450.00	\$400.00		\$456.00	\$1,240,776.00
78 4ZM03HPC 79 4ZM04HPC	10 C.Y. 27 C.Y.	Concrete in Baranet, HPC	\$2,819.12 \$2,555.32		\$2,600.00	\$26,000.00	\$2,000.00	\$20,000.00 \$121,500.00	\$3,000.00	\$30,000.00	\$2,000.00	\$20,000.00	\$3,100.00	\$31,000.00
80 4ZM06HPC	178 C.Y.	Concrete in Parapet, HPC Concrete in Deck, HPC	\$2,555.52 \$1,835.66		\$1,700.00 \$1,400.00	\$45,900.00 \$249,200.00	\$4,500.00 \$2,000.00	\$356,000.00	\$2,250.00 \$2,000.00	\$60,750.00 \$356,000.00	\$2,300.00 \$2,500.00	\$62,100.00 \$445,000.00	\$2,500.00 \$1,700.00	\$67,500.00 \$302,600.00
81 4ZM09HPC	26 C.Y.	Concrete In Sidewalk, HPC	\$1,833.00		\$850.00	\$249,200.00	\$3,000.00	\$78,000.00	\$1,000.00	\$26,000.00	\$2,500.00	\$39,000.00	\$1,700.00	\$42,900.00
82 5A00002	96 L.F.	8-Inch Combination Underdrain	\$1,212.99 \$77.86		\$80.00	\$7,680.00	\$3,000.00	\$6,720.00	\$45.00	\$4,320.00	\$1,300.00		\$1,030.00	\$6,720.00
82 5A00002 83 5A01PUD	125 L.F.	6-Inch Pipe Underdrain	\$67.14		\$80.00	\$10,000.00	\$70.00	\$8,750.00	\$45.00	\$5,625.00	\$15.00		\$70.00	\$8,750.00
84 5B01CSD	584 L.F.	Cleaning Existing Storm Drains	\$8.74		\$11.00	\$6,424.00	\$10.00	\$5,840.00	\$10.00	\$5,840.00	\$13.00		\$15.00	\$8,760.00
85 5B15RC3	701 L.F.	15" Reinforced Concrete Pipe	\$100.25		\$150.00	\$105,150.00	\$140.00	\$98,140.00	\$90.00	\$63,090.00	\$150.00		\$105.00	\$73,605.00
86 5B24RC3	95 L.F.	24" Reinforced Concrete Pipe	\$185.36		\$220.00	\$20,900.00	\$200.00	\$19,000.00	\$135.00	\$12,825.00	\$230.00	\$21,850.00	\$135.00	\$12,825.00
87 5C01NBO	7 Each	Inlet, Type B	\$6,240.91	\$43,686.37	\$3,500.00	\$24,500.00	\$4,500.00	\$31,500.00	\$3,500.00	\$24,500.00	\$4,500.00	\$31,500.00	\$7,500.00	\$52,500.00
88 5C01NE0	2 Each	Inlet, Type B	\$6,091.33		\$4,500.00	\$9,000.00	\$3,500.00	\$7,000.00	\$3,500.00	\$7,000.00	\$6,600.00	\$13,200.00	\$7,200.00	\$14,400.00
89 5C20NP1	1 Each	Manhole, Type P-1	\$6,921.11	\$6,921.11	\$6,000.00	\$6,000.00	\$3,500.00	\$3,500.00	\$5,750.00	\$5,750.00	\$4,500.00	\$4,500.00	\$7,700.00	\$7,700.00
90 5C25EP1	1 Each	Reconstructed Manhole, Type P-1, Using Existing Cover and Frame	\$4,176.27	\$4,176.27	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$1,350.00	\$1,350.00	\$6,205.00	\$6,205.00	\$6,000.00	\$6,000.00
91 5C25EP2	1 Each	Reconstructed Manhole, Type P-2, Using Existing Cover and Frame	\$4,176.27	\$4,176.27	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$1,350.00	\$1,350.00	\$6,360.00		\$6,000.00	\$6,000.00
92 5C40RSF	3 Each	Reset Frame	\$1,029.50		\$500.00	\$1,500.00	\$800.00	\$2,400.00	\$500.00	\$1,500.00	\$1,500.00		\$750.00	\$2,250.00
93 5C55CDS	3 Each	Cleaning Existing Drainage Structures	\$378.70		\$550.00	\$1,650.00	\$1,000.00	\$3,000.00	\$350.00	\$1,050.00	\$600.00	\$1,800.00	\$725.00	\$2,175.00
94 5D10INC	1 C.Y.	Incidental Concrete	\$1,603.36		\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$1,600.00	\$1,600.00	\$6,500.00	\$6,500.00
95 5F00011	2,540.00 L.F.	9" X 20" Concrete Vertical Curb, Tinted	\$40.78		\$50.00	\$127,000.00	\$42.00	\$106,680.00	\$35.00	\$88,900.00	\$40.00		\$40.00	\$101,600.00
96 5F00012	215 L.F.	Drop Curb, Tinted	\$40.78		\$50.00	\$10,750.00	\$38.00	\$8,170.00	\$35.00	\$7,525.00	\$69.00		\$39.00	\$8,385.00
97 5G01GNC	25 L.F.	Granite Curb	\$137.20	\$3,430.00	\$50.00	\$1,250.00	\$130.00	\$3,250.00	\$125.00	\$3,125.00	\$820.00	\$20,500.00	\$125.00	\$3,125.00
98 5I01RES	4 Each	Relocate Existing Ground-Mounted Sign	\$308.78	\$1,235.12	\$500.00	\$2,000.00	\$420.00	\$1,680.00	\$500.00	\$2,000.00	\$1,800.00	\$7,200.00	\$290.00	\$1,160.00
99 5I01SNP	152 S.F.	Sign Panels	\$57.10	\$8,679.20	\$68.00	\$10,336.00	\$32.00	\$4,864.00	\$50.00	\$7,600.00	\$47.00	\$7,144.00	\$52.00	\$7,904.00
100 5I05SPP	150 L.F.	U-channel Post	\$38.45	\$5,767.50	\$46.22	\$6,933.00	\$22.00	\$3,300.00	\$35.00	\$5,250.00	\$1.85	\$277.50	\$34.00	\$5,100.00
101 5I11REM	10 Each	Remove Signs	\$122.35	\$1,223.50	\$100.00	\$1,000.00	\$250.00	\$2,500.00	\$200.00	\$2,000.00	\$565.00	\$5,650.00	\$130.00	\$1,300.00
102 5J01PCA	4 Each	Parapet Connection, Type A	\$3,087.83	\$12,351.32	\$2,900.00	\$11,600.00	\$2,800.00	\$11,200.00	\$5,000.00	\$20,000.00	\$2,650.00	\$10,600.00	\$4,700.00	\$18,800.00
103 5J01RBG	110 L.F.	Removal of Beam Guide rail	\$0.01		\$1.00	\$110.00	\$2.00	\$220.00	\$20.00	\$2,200.00	\$0.01	\$1.10	\$21.00	\$2,310.00
104 5J51TTS	3 Each	Tangent Guide Rail Terminal	\$3,495.65	\$10,486.95	\$3,300.00	\$9,900.00	\$3,100.00	\$9,300.00	\$3,500.00	\$10,500.00	\$3,000.00	\$9,000.00	\$3,600.00	\$10,800.00
105 5J52ABG	1 Each	Beam Guide Rail Anchorage	\$1,106.96	\$1,106.96	\$1,040.00	\$1,040.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$950.00	\$950.00	\$2,200.00	\$2,200.00
106 5J52BGR	75 L.F.	Beam Guide Rail	\$34.96		\$33.00	\$2,475.00	\$32.00	\$2,400.00	\$65.00	\$4,875.00	\$30.00		\$67.00	\$5,025.00
107 5K00092	335 L.F.	Chain Link Fence, Type IV, 72" High, Black Powder Coated	\$115.57	\$38,715.95	\$110.00	\$36,850.00	\$56.00	\$18,760.00	\$40.00	\$13,400.00	\$45.00		\$47.00	\$15,745.00
108 5K72TCL	1,610.00 L.F.	Temporary Chain Link Fence , 72" High	\$23.30		\$19.40	\$31,234.00	\$60.00	\$96,600.00	\$22.00	\$35,420.00	\$20.00		\$41.00	\$66,010.00
109 5N00003	12 S.Y.	Detectable Warning Surface	\$268.00		\$500.00	\$6,000.00	\$250.00	\$3,000.00	\$250.00	\$3,000.00	\$180.00		\$240.00	\$2,880.00
110 5N00009	1,960.00 S.Y.	Concrete Sidewalk, 4" Thick, Tinted	\$95.55		\$99.00	\$194,040.00	\$86.00	\$168,560.00	\$90.00	\$176,400.00	\$100.00		\$86.00	\$168,560.00
111 5N00010	15 S.Y.	Concrete Driveway Apron, 6" Thick, Tinted	\$137.79		\$110.00	\$1,650.00	\$150.00	\$2,250.00	\$125.00	\$1,875.00	\$465.00		\$125.00	\$1,875.00
112 5N04ACS	405 S.Y.	Asphalt Concrete Sidewalk, 4" Thick	\$58.26		\$50.00	\$20,250.00	\$40.00	\$16,200.00	\$50.00	\$20,250.00	\$50.00		\$55.00	\$22,275.00
113 5P20LLS	8,390.00 L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$0.75		\$2.00	\$16,780.00	\$0.60	\$5,034.00	\$1.00	\$8,390.00	\$0.45		\$0.50	\$4,195.00
114 5P30LLM	1,875.00 L.F.	Traffic Markings, Lines, long - Life, Epoxy Resin	\$2.10		\$2.00	\$3,750.00	\$0.60	\$1,125.00	\$1.00	\$1,875.00	\$0.90		\$1.00	\$1,875.00
115 5P32LLM	155 S.F.	Traffic Markings, Symbols, Long - Life, Epoxy Resin	\$25.63		\$5.00	\$775.00	\$3.00	\$465.00	\$11.00	\$1,705.00	\$10.00		\$11.00	\$1,705.00
118 5V01PIT	4 Each	Test Pits	\$2,635.65		\$1,500.00	\$6,000.00	\$3,000.00	\$12,000.00	\$1,000.00	\$4,000.00	\$2,000.00		\$2,200.00	\$8,800.00
119 5ZA0001	14 Each	Utility Support Hangers, Water	\$1,432.38		\$2,500.00	\$35,000.00	\$1,000.00	\$14,000.00	\$1,250.00	\$17,500.00	\$650.00		\$1,300.00	\$18,200.00
120 5ZA0002	14 Each	Utility Support Hangers, Electric	\$1,432.38			\$35,000.00	\$700.00	\$9,800.00	\$1,500.00	\$21,000.00	\$300.00		\$1,100.00	\$15,400.00
121 5ZB01RJB	2 Each	Reset Junction Box	\$582.61		\$150.00	\$300.00	\$1,400.00	\$2,800.00	\$2,500.00	\$5,000.00	\$12,000.00		\$1,100.00	\$2,200.00
122 5ZL0081 123 5ZL01FHA	1 Each	Water Main Blow Off Assemblies	\$6,115.92			\$10,000.00	\$6,000.00	\$6,000.00	\$2,500.00	\$2,500.00	\$12,000.00	\$12,000.00	\$6,500.00	\$6,500.00
	3 Each	Fire Hydrant Assemblies Manufactured Treatment Devices	\$13,635.62		\$9,900.00 \$35,000.00	\$29,700.00	\$8,000.00	\$24,000.00	\$11,000.00	\$33,000.00	\$15,000.00	\$45,000.00	\$22,000.00	\$66,000.00
124 5ZL10MTD 125 5ZO0188	2 Each	Manufactured Treatment Devices Steel Hand Rail, Black Powder Coated	\$33,907.97 \$270.33	\$67,815.94 \$73,259.43	\$35,000.00	\$70,000.00 \$88,075.00	\$85,000.00 \$260.00	\$170,000.00 \$70,460.00	\$60,000.00 \$275.00	\$120,000.00 \$74,525.00	\$75,000.00 \$260.00		\$45,500.00 \$285.00	\$91,000.00 \$77,235.00
126 5ZO0188	271 L.F. 118 L.F.	20" Water Main, Bridge	\$270.33 \$638.34		\$650.00	\$76,700.00	\$700.00	\$82,600.00	\$1,000.00	\$118,000.00	\$650.00		\$650.00	\$77,233.00
120 3200133	IIO L.F.	20 Water Wall, Druge	3 030.34	21.4.12رد ر ب	00.000	0,700.00	\$700.00	702,000.00	00.000,10	7110,000.00	2030.00	0,700.00	00.000	770,700.00

		BaseLine Item Detail	IEW Construc	tion Group Inc.	Carbro Con	structors Corp.	D'Annunzi	o & Sons, Inc.	J. Fletcher Cr	eamer & Son, Inc.	Northeast Remso	co Construction, Inc.	George Harms C	onstruction Co., Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
127 5ZO0196	982 L.F.	20" Cement Lined Ductile Iron Pipe, Class 53, Water Main	\$278.94	\$273,919.08	\$400.00	\$392,800.00	\$300.00	\$294,600.00	\$500.00	\$491,000.00	\$355.00	\$348,610.00	\$625.00	\$613,750.00
128 5ZO0197	4 Each	20" Water Valve	\$29,777.16	\$119,108.64	\$35,000.00	\$140,000.00	\$30,000.00	\$120,000.00	\$30,000.00	\$120,000.00	\$35,000.00	\$140,000.00	\$35,000.00	\$140,000.00
129 5ZO0198	2 Each	Curb Boxes	\$1,237.65	\$2,475.30	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$275.00	\$550.00	\$3,000.00	\$6,000.00	\$550.00	\$1,100.00
130 6A00119	1 Each	Foundation, Type P-MC	\$4,078.26	\$4,078.26	\$2,800.00	\$2,800.00	\$2,800.00	\$2,800.00	\$3,200.00	\$3,200.00	\$3,500.00	\$3,500.00	\$5,300.00	\$5,300.00
131 6A00120	1 Each	Meter Cabinet, Type T	\$3,845.22	\$3,845.22	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	\$4,000.00	\$4,000.00	\$3,300.00	\$3,300.00	\$3,900.00	\$3,900.00
132 6A00121	1 Each	Controller, 8 Phase	\$19,808.70	\$19,808.70	\$15,000.00	\$15,000.00	\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00	\$17,000.00	\$17,000.00	\$15,500.00	\$15,500.00
133 6A00122	1 Each	Controller Turn-On	\$6,408.70	\$6,408.70	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$5,500.00	\$5,500.00	\$5,500.00	\$5,500.00	\$5,700.00	\$5,700.00
134 6A00155	6 Each	Junction Box, 18" X 36" (NJDOT)	\$2,505.22	\$15,031.32	\$2,200.00	\$13,200.00	\$2,100.00	\$12,600.00	\$2,000.00	\$12,000.00	\$2,150.00	\$12,900.00	\$3,100.00	\$18,600.00
135 6A00157	770 L.F.	Service Wire, No. 2 AWG	\$5.24	\$4,034.80	\$5.00	\$3,850.00	\$5.00	\$3,850.00	\$3.00	\$2,310.00	\$4.50	\$3,465.00	\$3.00	\$2,310.00
136 6A00159	2 Each	Meter Cabinet, Type L	\$4,893.92	\$9,787.84	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$4,500.00	\$9,000.00	\$4,200.00	\$8,400.00	\$4,100.00	\$8,200.00
137 6A00177	24 Each	Junction Box, 12" x 18"	\$1,543.91	\$37,053.84	\$3,000.00	\$72,000.00	\$3,000.00	\$72,000.00	\$1,100.00	\$26,400.00	\$1,325.00	\$31,800.00	\$2,500.00	\$60,000.00
138 6A00178	1 Each	Uninterruptible Power Supply (UPS) w/ Controller Cabinet Revisions	\$7,573.92	\$7,573.92	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,500.00	\$6,500.00	\$5,700.00	\$5,700.00
139 6A10GWR	300 L.F.	#10 A.W.G. Ground Wire	\$1.75	\$525.00	\$1.60	\$480.00	\$1.50	\$450.00	\$1.50	\$450.00	\$1.50	\$450.00	\$1.40	\$420.00
140 6A01RMU	280 L.F.	1" Rigid Metallic Conduit, Underground	\$32.04	\$8,971.20	\$29.00	\$8,120.00	\$28.00	\$7,840.00	\$26.00	\$7,280.00	\$27.50	\$7,700.00	\$35.00	\$9,800.00
141 6A02RMU	3,260.00 L.F.	2" Rigid Metallic Conduit, Underground	\$34.37	\$112,046.20	\$35.00	\$114,100.00	\$33.00	\$107,580.00	\$32.00	\$104,320.00	\$29.50	\$96,170.00	\$40.00	\$130,400.00
142 6A03RMU	695 L.F.	3" Rigid Metallic Conduit, Underground	\$58.26	\$40,490.70	\$51.00	\$35,445.00	\$50.00	\$34,750.00	\$60.00	\$41,700.00	\$50.00	\$34,750.00	\$120.00	\$83,400.00
143 6A06MLC	8,150.00 L.F.	#6 A.W.G. Multiple Lighting Cable	\$4.08	\$33,252.00	\$2.80	\$22,820.00	\$2.70	\$22,005.00	\$2.20	\$17,930.00	\$3.50	\$28,525.00	\$2.20	\$17,930.00
144 6A06SWR	640 L.F.	#6 A.W.G. Service Wire	\$4.08	\$2,611.20	\$3.00	\$1,920.00	\$3.00	\$1,920.00	\$2.00	\$1,280.00	\$3.50	\$2,240.00	\$1.80	\$1,152.00
145 6A08GWR	3,670.00 L.F.	#8 A.W.G. Ground Wire	\$2.33	\$8,551.10	•	\$6,422.50	\$1.75	\$6,422.50	\$2.00	\$7,340.00	\$2.00	\$7,340.00	\$1.90	\$6,973.00
146 6A11MLC	595 L.F.	#10 A.W.G. Multiple Lighting Cable	\$2.91	\$1,731.45	\$2.20	\$1,309.00	\$2.10	\$1,249.50	\$2.00	\$1,190.00	\$2.50	\$1,487.50	\$1.50	\$892.50
147 6B00109	2 Each	Foundation, Type MCF	\$2,155.66	\$4,311.32		\$6,000.00	\$1,200.00	\$2,400.00	\$1,400.00	\$2,800.00	\$1,850.00	\$3,700.00	\$2,100.00	\$4,200.00
148 6B00158	21 Each	Decorative Luminaire	\$3,320.87	\$69,738.27	\$3,000.00	\$63,000.00	\$3,000.00	\$63,000.00	\$3,000.00	\$63,000.00	\$2,850.00	\$59,850.00	\$2,850.00	\$59,850.00
149 6B00159	21 Each	Decorative Lighting Pole	\$2,913.04	\$61,173.84	\$3,000.00	\$63,000.00	\$2,900.00	\$60,900.00	\$2,750.00	\$57,750.00	\$2,500.00	\$52,500.00	\$2,750.00	\$57,750.00
150 6B00169	14 Each	Decorative Pole Foundation	\$1,136.09	\$15,905.26	\$1,100.00	\$15,400.00	\$1,100.00	\$15,400.00	\$1,200.00	\$16,800.00	\$975.00	\$13,650.00	\$1,100.00	\$15,400.00
151 6H00006	4 Each	Image Detector	\$7,107.83	\$28,431.32	\$5,900.00	\$23,600.00	\$5,700.00	\$22,800.00	\$5,000.00	\$20,000.00	\$6,100.00	\$24,400.00	\$4,900.00	\$19,600.00
152 6H00080	8 Each	Accessible Pedestrian Push Button Station	\$1,747.83	\$13,982.64	\$1,300.00	\$10,400.00	\$1,200.00	\$9,600.00	\$1,250.00	\$10,000.00	\$1,500.00	\$12,000.00	\$1,300.00	\$10,400.00
153 6H00PSH	8 Each	Pedestrian Signal Head	\$1,281.74	\$10,253.92	\$1,000.00	\$8,000.00	\$1,000.00	\$8,000.00	\$850.00	\$6,800.00	\$1,100.00	\$8,800.00	\$850.00	\$6,800.00
154 6H00SFT	4 Each	Foundation, Type SFT	\$2,301.31	\$9,205.24	\$1,700.00	\$6,800.00	\$1,650.00	\$6,600.00	\$2,200.00	\$8,800.00	\$1,975.00	\$7,900.00	\$3,200.00	\$12,800.00
155 6H00SPF	6 Each	Foundation, Type SPF	\$2,155.65	\$12,933.90	\$1,060.00	\$6,360.00	\$1,000.00	\$6,000.00	\$1,700.00	\$10,200.00	\$1,850.00	\$11,100.00	\$1,600.00	\$9,600.00
156 6H00TSH	8 Each	Traffic Signal Head	\$1,485.65	\$11,885.20	\$1,250.00	\$10,000.00	\$1,200.00	\$9,600.00	\$1,250.00	\$10,000.00	\$1,275.00	\$10,200.00	\$1,100.00	\$8,800.00
157 6H00TSM	4 Each	Traffic Signal Mast Arm, Aluminum	\$2,534.35	\$10,137.40	\$1,750.00	\$7,000.00	\$1,700.00	\$6,800.00	\$3,000.00	\$12,000.00	\$2,175.00	\$8,700.00	\$3,000.00	\$12,000.00
158 6H02TSC	1,615.00 L.F.	Traffic Signal Cable, 2 Conductor	\$2.91	\$4,699.65	\$2.60	\$4,199.00	\$2.60	\$4,199.00	\$2.00	\$3,230.00	\$2.50	\$4,037.50	\$2.00	\$3,230.00
159 6H04PSA	6 Each	Pedestrian Signal Standard	\$1,176.87	\$7,061.22	\$885.00	\$5,310.00	\$850.00	\$5,100.00	\$750.00	\$4,500.00	\$1,010.00	\$6,060.00	\$740.00	\$4,440.00
160 6H05TSC	1,615.00 L.F.	Traffic Signal Cable, 5 Conductor	\$3.50	\$5,652.50	\$3.00	\$4,845.00	\$3.00	\$4,845.00	\$2.50	\$4,037.50	\$3.00	\$4,845.00	\$2.40	\$3,876.00
161 6H06TSS	4 Each	Traffic Signal Standard, Aluminum	\$2,913.05	\$11,652.20		\$9,200.00	\$2,200.00	\$8,800.00	\$2,200.00	\$8,800.00	\$2,500.00	\$10,000.00	\$2,200.00	\$8,800.00
162 6H10TSC	800 L.F.	Traffic Signal Cable, 10 Conductor	\$4.08	\$3,264.00	\$3.80	\$3,040.00	\$4.00	\$3,200.00	\$3.00	\$2,400.00	\$3.50	\$2,800.00	\$3.00	\$2,400.00
163 7C01TOP	2,665.00 S.Y.	Topsoil	\$5.83	\$15,536.95	\$8.00	\$21,320.00	\$7.50	\$19,987.50	\$3.00	\$7,995.00	\$3.00	\$7,995.00	\$11.00	\$29,315.00
164 7D01SED	2,665.00 S.Y.	Seeding, Type A	\$2.33	\$6,209.45	\$3.00	\$7,995.00	\$2.00	\$5,330.00	\$1.50	\$3,997.50	\$1.00	\$2,665.00	\$4.00	\$10,660.00
165 7D20MOW	3 Acre	Mowing	\$291.30	\$873.90	\$500.00	\$1,500.00	\$750.00	\$2,250.00	\$300.00	\$900.00	\$300.00	\$900.00	\$750.00	\$2,250.00
166 7F01SSM	253 S.Y.	Soil Stablization Matting	\$11.65	\$2,947.45	\$35.00	\$8,855.00	\$5.00	\$1,265.00	\$6.00	\$1,518.00	\$4.00	\$1,012.00	\$8.00	\$2,024.00
167 7100002	285 S.Y.	Remove Block Pavers	\$85.51	\$24,370.35	\$100.00	\$28,500.00	\$11.00	\$3,135.00	\$75.00	\$21,375.00	\$200.00	\$57,000.00	\$25.00	\$7,125.00
168 8A01MPT	1 L.S.	Furnishing Traffic Control Devices	\$150,000.00	\$150,000.00		\$25,000.00	\$150,000.00	\$150,000.00	\$12,500.00	\$12,500.00		\$240,000.00	\$75,000.00	\$75,000.00
169 8A29MPT	600 M.H.	Flaggers Furnishing Proceet Congrete Construction Parvior	\$101.98	\$61,188.00	\$1.00	\$600.00	\$85.00	\$51,000.00	\$75.00	\$45,000.00	\$90.00	\$54,000.00	\$85.00	\$51,000.00
170 N8A0001	80 L.F.	Furnishing Precast Concrete Construction Barrier	\$70.26	\$5,620.80	\$40.00	\$3,200.00	\$100.00	\$8,000.00	\$35.00	\$2,800.00	\$40.00	\$3,200.00	\$37.00	\$2,960.00
171 N8A0002	300 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$7.82	\$2,346.00	\$60.00	\$18,000.00	\$30.00	\$9,000.00	\$35.00	\$10,500.00	\$88.00	\$26,400.00	\$32.00	\$9,600.00
172 2F03TEX	1,027.00 C.Y.	Trench Excavation, Earth	\$30.49	\$31,313.23	\$1.00	\$1,027.00	\$2.00	\$2,054.00	\$60.00	\$61,620.00	\$80.00	\$82,160.00	\$33.00	\$33,891.00
173 2H20TEC	5 Ton	Temporary Stone, Grade A	\$141.22	\$706.10		\$400.00	\$800.00	\$4,000.00	\$75.00	\$375.00	\$255.00	\$1,275.00	\$180.00	\$900.00
174 2M00034	4,280.00 Ton	Disposal of Regulated Material	\$44.28	\$189,518.40	\$60.00	\$256,800.00	\$46.00	\$196,880.00	\$75.00	\$321,000.00	\$52.00	\$222,560.00	\$50.00	\$214,000.00
175 4ZM05HPC	271 S.Y.	Bridge Approach Slab, HPC	\$376.37	\$101,996.27	\$220.00	\$59,620.00	\$500.00	\$135,500.00	\$400.00	\$108,400.00	\$750.00	\$203,250.00	\$630.00	\$170,730.00
176 5Q00008	15,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
177 5Q01FAL	1 L.S.	Furnish Field Office, Type A	\$24,803.47	\$24,803.47		\$60,000.00	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$95,000.00	\$95,000.00
178 5Q02MFA	28 Mnth	• ••	\$3,612.18	\$101,141.04	\$100.00	\$2,800.00	\$3,000.00	\$84,000.00	\$2,000.00	\$56,000.00	\$2,700.00	\$75,600.00	\$4,000.00	\$112,000.00
179 1HFP003	2,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
180 2B00007	15,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
181 3B00018	10,000.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
182 2A02CAG	1 L.S.	Clearing and Grubbing	\$72,294.37		\$200,000.00		\$300,000.00		\$100,000.00		\$345,000.00	\$345,000.00	\$395,000.00	\$395,000.00
				\$11,356,470.50	1	\$11,714,963.00		\$11,927,000.00	1	\$12,169,387.00		\$12,401,999.00		\$12,952,347.00

Letting Date: 4/30/2019

		BaseLine Item Detail	Agate Constru	uction Co., Inc.
Item No. Unit Code	Qty UO	A Description	Unit Price	Line Total
1 1D01LAY	1 L.S.	Construction Layout	\$100,000.00	\$100,000.00
2 1D10MOB	1 L.S.	Mobilization	\$694,000.00	\$694,000.00
3 1G01SCH	1 L.S.	Progress Schedule	\$36,000.00	\$36,000.00
5 1I01MAB	1 L.S.	Maintenance Bond	\$1.00	\$1.00
8 2B04REX	5,802.00 C.Y	Roadway Excavation and Embankment	\$31.25	\$181,312.50
9 2B15STS	104 C.Y	Stripping Topsoil	\$9.50	\$988.00
10 2B20OVR	3,761.00 C.Y	Overload Removal	\$18.00	\$67,698.00
12 N2B0002	1 L.S.	Dewatering	\$1,115,000.00	\$1,115,000.00
13 2C00008	1,232.00 C.Y	#57 Stone Backfill	\$0.01	\$12.32
14 2C01EMB 15 2C02EMB	2,477.00 C.Y	Embankment, Common	\$50.00 \$0.01	\$123,850.00 \$6.51
16 2C04EMB	651 C.Y. 82 C.Y	Embankment, Grade A Porous Fill	\$100.00	\$8,200.00
17 2C13EMB	20,460.00 S.F.	Geosynthetic Embankment Reinforcement, Type A	\$2.15	\$43,989.00
18 2C14EMB	482 S.Y.	Geotextile Filter Fabric	\$8.00	\$3,856.00
19 N2C0005	5 Eac		\$3,000.00	\$15,000.00
20 N2C0010	530 L.F.	Inclinometer Casing	\$76.00	\$40,280.00
21 N2C0011	1 Eac		\$23,000.00	\$23,000.00
22 N2C0012	1 Eac	n Inclinometer Readout Unit	\$1,100.00	\$1,100.00
23 N2C0014	86,654.00 L.F.	Vertical Wick Drains	\$2.25	\$194,971.50
24 2D01DAM	1 L.S.	Cofferdam No. 1	\$1,595,000.00	\$1,595,000.00
25 2D02DAM	1 L.S.	Cofferdam No. 2	\$1,595,000.00	\$1,595,000.00
26 2E01FEX	409 C.Y	Foundataion Excavation	\$35.00	\$14,315.00
27 2G00016	425 Tor	Riprap Stone Slope Protection, 24" Thick (D50=12")	\$85.00	\$36,125.00
28 2H00016	12 Eac	n Inlet Filter, Type 2	\$140.00	\$1,680.00
29 2H00018	2 Eac	•	\$450.00	\$900.00
30 2H00021	2 Eac	Concrete Washout Facility	\$11,000.00	\$22,000.00
31 2H01DSC	4,160.00 S.Y.	Temporary Seeding	\$0.70	\$2,912.00
32 2H05DSC	30 KG/	5	\$0.15	\$4.50
33 2H25TEC	10 C.Y	Hay Bales	\$140.00	\$1,400.00
34 2H35TEC	247 L.F.	Floating Turbidity Barriers	\$52.00	\$12,844.00
35 2H45TEC	198 Tor	Construction Driveway	\$55.00	\$10,890.00
36 N2H0002	2,305.00 L.F.	Heavy Duty Silt Fence	\$8.50 \$45,000.00	\$19,592.50
37 2M00003 38 3A04ABC	1 L.S. 850 S.Y.	Vibration and Movement Monitoring Aggregate Base Course, 4" Thick	\$45,000.00	\$45,000.00 \$15,300.00
39 3A08ABC	5,510.00 S.Y.	Aggregate Base Course, 8" Thick	\$18.00	\$99,180.00
40 3B00006	800 Tor	Hot Mix Asphalt 12.5 M 64-22 Surface Course	\$116.00	\$92,800.00
41 3B00010	2,520.00 Tor	Hot Mix Asphalt 19 M 64 Base Course	\$130.00	\$327,600.00
42 3B26TAC	515 GAI	•	\$12.00	\$6,180.00
44 3C01BRS	145 S.Y.	Berm Surfacing, 3 Inches Thick	\$57.00	\$8,265.00
46 3E07PMR	300 S.Y.	Pavement Removal, 2" Depth	\$9.00	\$2,700.00
47 3E20PMR	75 S.Y.	Pavement Removal, Variable Depth	\$18.00	\$1,350.00
48 3E40PMR	345 S.Y.	Surface Milling	\$20.00	\$6,900.00
49 3E50PMR	815 S.Y.	Surface Milling, 2" Average Depth	\$20.00	\$16,300.00
50 4A00018	10 C.Y	Concrete in Wingwalls	\$4,825.00	\$48,250.00
51 4A04STC	151 C.Y	Concrete In Footings	\$900.00	\$135,900.00
52 4A10AAF	123 C.Y	Concrete in Abutments Above Footings	\$1,900.00	\$233,700.00
53 4A10COP	23 C.Y	Concrete in Coping	\$3,500.00	\$80,500.00
54 4A11RFS	74,444.00 LB	Reinforcement Steel, Epoxy Coated	\$1.75	\$130,277.00
55 N4A0001	496 S.Y.	Sawcut Grooved Deck Surface	\$8.50	\$4,216.00
56 N4A0003	87 L.F.	Strip Seal Expansion Joints, 4" Movement	\$650.00	\$56,550.00
57 4B00023	690 L.F.	Prestressed Concrete Beams, Type V	\$600.00	\$414,000.00
58 4CSSL01	1 L.S.	Structural Steel Structure No. 1	\$37,000.00	\$37,000.00
59 4CSSL02	1 L.S.	Structural Steel Structure No. 2	\$31,000.00	\$31,000.00
60 4.00E+108			\$1,500.00	\$48,000.00
61 4.00E+131	•	Furnishing Cast-in-Place Concrete Pile, 24" O.D.	\$125.00	\$370,500.00
62 4.00E+132 63 4.00E+133		Driving Cast-in-Place Concrete Pile, 24" O.D. Furnishing Cast-in-Place Concrete Test Pile, 24" O.D.	\$94.00 \$125.00	\$266,396.00 \$31,875.00
64 4.00E+134		Driving Cast-in-Place Concrete Test Pile, 24" O.D.	\$123.00	\$17,222.00
65 4E01EDP	1 L.S.	Furnishing Equipment for Driving Piles	\$125,000.00	\$17,222.00
OJ ILUILDI	1 1.3.	- Emiliano Espaisment of Stitulo inco	Ψ123,000.00	Ţ_ _ 3,000.00

Letting Date: 4/30/2019

		BaseLine Item Detail	Agate Constr	uction Co., Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total
66 4E01PDA	4 Each	Restrike With PDA and CAPWAP Analysis	\$8,000.00	\$32,000.00
67 4E01PLT	2 Each	Dynamic Pile Load Tests	\$2,525.00	\$5,050.00
68 4H00008	12 Each	Laminated Elastomeric Bearing, 15" x 21"	\$4,000.00	\$48,000.00
69 4J01DAW	149 S.Y.	Damp-proofing	\$17.50	\$2,607.50
70 4N05BRL	797 L.F.	Bridge Railing	\$252.00	\$200,844.00
71 4001TSP	300 S.F.	Temporary Sheeting	\$500.00	\$150,000.00
72 4P04PSS	3,457.00 S.F.	Permanent Steel Sheeting, Type AZ18	\$33.00	\$114,081.00
73 4P15PCS	6,913.00 S.F.	Protective Coating	\$5.50	\$38,021.50
74 N4Q0013	6,594.00 S.F.	Temporary Shielding	\$0.01	\$65.94
75 4R25BSR	1,030.00 S.F.	Substructure Membrane Waterproofing	\$15.60	\$16,068.00
76 4ZF01TMP 77 4ZF04MSE	8,450.00 S.F.	Temporary MSE Welded Wire Mesh Wall	\$17.50 \$322.00	\$147,875.00
77 4ZF04IVISE 78 4ZM03HPC	2,721.00 S.F. 10 C.Y.	Mechanically Stabilized Earth Walls (Two-Stage) Concrete in Headblock, HPC	\$1,600.00	\$876,162.00 \$16,000.00
79 4ZM04HPC	27 C.Y.	Concrete in Parapet, HPC	\$2,130.00	\$57,510.00
80 4ZM06HPC	178 C.Y.	Concrete in Parapet, FFC	\$1,625.00	\$289,250.00
81 4ZM09HPC	26 C.Y.	Concrete In Sidewalk, HPC	\$1,400.00	\$36,400.00
82 5A00002	96 L.F.	8-Inch Combination Underdrain	\$38.00	\$3,648.00
83 5A01PUD	125 L.F.	6-Inch Pipe Underdrain	\$36.00	\$4,500.00
84 5B01CSD	584 L.F.	Cleaning Existing Storm Drains	\$7.50	\$4,380.00
85 5B15RC3	701 L.F.	15" Reinforced Concrete Pipe	\$65.00	\$45,565.00
86 5B24RC3	95 L.F.	24" Reinforced Concrete Pipe	\$108.00	\$10,260.00
87 5C01NBO	7 Each	Inlet, Type B	\$5,500.00	\$38,500.00
88 5C01NE0	2 Each	Inlet, Type E	\$4,000.00	\$8,000.00
89 5C20NP1	1 Each	Manhole, Type P-1	\$4,700.00	\$4,700.00
90 5C25EP1	1 Each	Reconstructed Manhole, Type P-1, Using Existing Cover and Frame	\$1,500.00	\$1,500.00
91 5C25EP2	1 Each	Reconstructed Manhole, Type P-2, Using Existing Cover and Frame	\$1,500.00	\$1,500.00
92 5C40RSF	3 Each	Reset Frame	\$800.00	\$2,400.00
93 5C55CDS	3 Each	Cleaning Existing Drainage Structures	\$325.00	\$975.00
94 5D10INC	1 C.Y.	Incidental Concrete	\$3,150.00	\$3,150.00
95 5F00011	2,540.00 L.F.	9" X 20" Concrete Vertical Curb, Tinted	\$35.00	\$88,900.00
96 5F00012	215 L.F.	Drop Curb, Tinted	\$35.00	\$7,525.00
97 5G01GNC	25 L.F.	Granite Curb	\$118.00	\$2,950.00
98 5I01RES	4 Each	Relocate Existing Ground-Mounted Sign	\$1,150.00	\$4,600.00
99 5I01SNP	152 S.F.	Sign Panels	\$32.00	\$4,864.00
100 5I05SPP	150 L.F.	U-channel Post	\$29.00	\$4,350.00
101 5I11REM	10 Each	Remove Signs	\$225.00	\$2,250.00
102 5J01PCA	4 Each	Parapet Connection, Type A	\$4,000.00	\$16,000.00
103 5J01RBG	110 L.F.	Removal of Beam Guide rail	\$2.00	\$220.00
104 5J51TTS 105 5J52ABG	3 Each 1 Each	Tangent Guide Rail Terminal	\$3,350.00 \$1,115.00	\$10,050.00 \$1,115.00
106 5J52BGR	75 L.F.	Beam Guide Rail Anchorage Beam Guide Rail	\$32.00	\$2,400.00
107 5K00092	335 L.F.	Chain Link Fence, Type IV, 72" High, Black Powder Coated	\$100.00	\$33,500.00
108 5K72TCL	1,610.00 L.F.	Temporary Chain Link Fence , 72" High	\$14.00	\$22,540.00
109 5N00003	12 S.Y.	Detectable Warning Surface	\$230.00	\$2,760.00
110 5N00009	1,960.00 S.Y.	Concrete Sidewalk, 4" Thick, Tinted	\$82.00	\$160,720.00
111 5N00010	15 S.Y.	Concrete Driveway Apron, 6" Thick, Tinted	\$118.00	\$1,770.00
112 5N04ACS	405 S.Y.	Asphalt Concrete Sidewalk, 4" Thick	\$35.00	\$14,175.00
113 5P20LLS	8,390.00 L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$0.45	\$3,775.50
114 5P30LLM	1,875.00 L.F.	Traffic Markings, Lines, long - Life, Epoxy Resin	\$0.90	\$1,687.50
115 5P32LLM	155 S.F.	Traffic Markings, Symbols, Long - Life, Epoxy Resin	\$10.00	\$1,550.00
118 5V01PIT	4 Each	Test Pits	\$2,000.00	\$8,000.00
119 5ZA0001	14 Each	Utility Support Hangers, Water	\$850.00	\$11,900.00
120 5ZA0002	14 Each	Utility Support Hangers, Electric	\$800.00	\$11,200.00
121 5ZB01RJB	2 Each	Reset Junction Box	\$130.00	\$260.00
122 5ZL0081	1 Each	Water Main Blow Off Assemblies	\$3,350.00	\$3,350.00
123 5ZL01FHA	3 Each	Fire Hydrant Assemblies	\$7,200.00	\$21,600.00
124 5ZL10MTD	2 Each	Manufactured Treatment Devices	\$47,000.00	\$94,000.00
125 5ZO0188	271 L.F.	Steel Hand Rail, Black Powder Coated	\$250.00	\$67,750.00
126 5ZO0195	118 L.F.	20" Water Main, Bridge	\$450.00	\$53,100.00

Letting Date: 4/30/2019

		BaseLine Item Detail	Agate Constru	uction Co., Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total
127 5ZO0196	982 L.F.	20" Cement Lined Ductile Iron Pipe, Class 53, Water Main	\$205.00	\$201,310.00
128 5ZO0197	4 Each	20" Water Valve	\$25,000.00	\$100,000.00
129 5ZO0198	2 Each	Curb Boxes	\$35.00	\$70.00
130 6A00119	1 Each	Foundation, Type P-MC	\$3,150.00	\$3,150.00
131 6A00120	1 Each	Meter Cabinet, Type T	\$3,800.00	\$3,800.00
132 6A00121	1 Each	Controller, 8 Phase	\$14,600.00	\$14,600.00
133 6A00122	1 Each	Controller Turn-On	\$5,500.00	\$5,500.00
134 6A00155	6 Each	Junction Box, 18" X 36" (NJDOT)	\$1,765.00	\$10,590.00
135 6A00157	770 L.F.	Service Wire, No. 2 AWG	\$3.00	\$2,310.00
136 6A00159	2 Each	Meter Cabinet, Type L	\$4,000.00	\$8,000.00
137 6A00177	24 Each	Junction Box, 12" x 18"	\$1,075.00	\$25,800.00
138 6A00178	1 Each	Uninterruptible Power Supply (UPS) w/ Controller Cabinet Revisions	\$5,600.00	\$5,600.00
139 6A10GWR	300 L.F.	#10 A.W.G. Ground Wire	\$1.35	\$405.00
140 6A01RMU	280 L.F.	1" Rigid Metallic Conduit, Underground	\$26.00	\$7,280.00
141 6A02RMU	3,260.00 L.F.	2" Rigid Metallic Conduit, Underground	\$30.00	\$97,800.00
142 6A03RMU	695 L.F.	3" Rigid Metallic Conduit, Underground	\$55.00	\$38,225.00
143 6A06MLC	8,150.00 L.F.	#6 A.W.G. Multiple Lighting Cable	\$2.10	\$17,115.00
144 6A06SWR	640 L.F.	#6 A.W.G. Service Wire	\$1.75	\$1,120.00
145 6A08GWR	3,670.00 L.F.	#8 A.W.G. Ground Wire	\$1.75	\$6,422.50
146 6A11MLC	595 L.F.	#10 A.W.G. Multiple Lighting Cable	\$1.40	\$833.00
147 6B00109	2 Each	Foundation, Type MCF	\$1,285.00	\$2,570.00
148 6B00158	21 Each	Decorative Luminaire	\$2,700.00	\$56,700.00
149 6B00159	21 Each	Decorative Lighting Pole	\$2,565.00	\$53,865.00
150 6B00169	14 Each	Decorative Pole Foundation	\$1,125.00	\$15,750.00
151 6H00006	4 Each	Image Detector	\$4,760.00	\$19,040.00
152 6H00080	8 Each	Accessible Pedestrian Push Button Station	\$1,200.00	\$9,600.00
153 6H00PSH	8 Each	Pedestrian Signal Head	\$800.00	\$6,400.00
154 6H00SFT	4 Each	Foundation, Type SFT	\$2,040.00	\$8,160.00
155 6H00SPF	6 Each	Foundation, Type SPF	\$1,550.00	\$9,300.00
156 6H00TSH	8 Each	Traffic Signal Most Area Aluminum	\$1,050.00	\$8,400.00
157 6H00TSM	4 Each	Traffic Signal Mast Arm, Aluminum	\$2,840.00	\$11,360.00
158 6H02TSC	1,615.00 L.F.	Traffic Signal Cable, 2 Conductor	\$2.00 \$725.00	\$3,230.00
159 6H04PSA 160 6H05TSC	6 Each 1,615.00 L.F.	Pedestrian Signal Standard Traffic Signal Cable, 5 Conductor	\$2.30	\$4,350.00 \$3,714.50
161 6H06TSS	4 Each	Traffic Signal Standard, Aluminum	\$2,085.00	\$8,340.00
162 6H10TSC	800 L.F.	Traffic Signal Cable, 10 Conductor	\$3.00	\$2,400.00
163 7C01TOP	2,665.00 S.Y.	Topsoil	\$3.50	\$9,327.50
164 7D01SED	2,665.00 S.Y.	Seeding, Type A	\$0.60	\$1,599.00
165 7D20MOW	2,003.00 3.1. 3 Acre	Mowing	\$375.00	\$1,399.00
166 7F01SSM	253 S.Y.	Soil Stablization Matting	\$3.50	\$885.50
167 7100002	285 S.Y.	Remove Block Pavers	\$22.00	\$6,270.00
168 8A01MPT	1 L.S.	Furnishing Traffic Control Devices	\$10,500.00	\$10,500.00
169 8A29MPT	600 M.H.	Flaggers	\$83.00	\$49,800.00
170 N8A0001	80 L.F.	Furnishing Precast Concrete Construction Barrier	\$135.00	\$10,800.00
171 N8A0002	300 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$26.00	\$7,800.00
172 2F03TEX	1,027.00 C.Y.	Trench Excavation, Earth	\$0.01	\$10.27
172 2F 03 TEX	5 Ton	Temporary Stone, Grade A	\$400.00	\$2,000.00
174 2M00034	4,280.00 Ton	Disposal of Regulated Material	\$145.00	\$620,600.00
175 4ZM05HPC	271 S.Y.	Bridge Approach Slab, HPC	\$325.00	\$88,075.00
176 5Q00008	15,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$15,000.00
177 5Q01FAL	1 L.S.	Furnish Field Office, Type A	\$40,000.00	\$40,000.00
178 5Q02MFA	28 Mnth	Maintain Field Office, Type A	\$2,100.00	\$58,800.00
179 1HFP003	2,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$2,000.00
180 2B00007	15,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$15,000.00
181 3B00018	10,000.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$10,000.00
182 2A02CAG	1 L.S.	Clearing and Grubbing	\$75,000.00	\$75,000.00
· -			, -,	\$13,229,466.04